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O2A X217} Abel Lafluer2 FIFA 2= EZL|E TORACEH
FIFA 2= EZLO|7} T2A X217} Abel Lafluerd]| 2|a =QH=|UCT

SEfS A9
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Oifel 8 34 81801 tllol 18 23825201 418 e
EIQS CHEf 73% HEQ| $42 F2 0IR0I QUCh T2 25%= WS

0|1 LIMXJi= AhAet T2 R.’.\_;OIEF.

"by + SEO|SXY, 4

RICLRIONE S32| RE XI0IM 2012 (AR5 ofa) SSECL
HY 4 0| ARISO| (SXXIS ofoH) BEATZ S&S WHLL &
Y8 gair,

O] H2|H0|E{SE (H2H0IE] ZIAfZH0l Sist) 127hBotct HH=D 9
ct

TSEN AlA| p.11

017} Tara ScottOf 2Ja 7IEEMTICH7IEX FCH7IEXME 74T,
H0{7t Tara Scott0i| 2J5f 7}2XX|= SO|CHZO|ACH.
20{7} Tara Scott0i| 29I 712 XK ATHIAACH.

C et +~SEY p-11
Lto| Oftith= gt2f LA FAS Sh2tal E5t24 10 Of2Ct.
Lt= Ot AN RS Siehs 2E =2 |X| P=Ch
Op0|S2 & MMS Hi= NS ISk A0| EL.
W2 S2S0| ZAXS|A FHotHsl= g Tg UHS 2Lt
MBS0 If2|2| 2| BE A0 OHES 2 4 Tt
|2 72| BE HAOM OEO| £2IC}
Quick Check p.11
16 206
1 0|7t SAL| 0| HE2 ~FEHZ HEHSICE

2

TS BEA= "to + be + p.p.O|Ct.

GRAMMAR ® CHECK p.12
1T 1b 2a
2 1 a.report b. be reported

2

2 a. wear b. be worn
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1 is located
3 be watched

2 is your name written
4 are being checked

1 to be updated
3 to treat / to be treated
4 laughing at / being laughed at

2 being attacked

1 is being mowed with a power mower by the gardener
2 has been used as a treatment for children by music
therapists

3 may have been built (by the Incan) around 1450

1 has been produced — has produced

2 be taken care — be taken care of

3 doesn’t seem to tune — doesn’t seem to be tuned
4 are used to making — are used to make

1 The Olympic Games are held

2 Your tickets will be sent to you

3 being invited to the meeting

4 of being elected the next president of the U.S.

1 HLAXIRI They(MEE)7t SL5HA| 22 EX0|2 2 +SEf7t X}
HAHLE

2 UHPNQI AHHO| 0121 AELCH= H0{7t 0|7t Y= ZR0|22
SSEf Meto] KIAARLCE,

1 a. Taxpayers®} reporto] HA7I S50|22 SSEHZ B3
b. diseases and conditions®t report| #A7} £50|22

+SEIE B3l

2 a.youltwear?| A7t 550|222 sSEHIZ B3

b. safety helmeti} wear2| 24|17} £+S0|22 +SEHZ 3

1 Z0{ EAP} A5 B 0|02 ASENZ BHEIC
2 FEIO| o222 (CJ2AN + be + F0{ + p.p. ~?.,0|Ct.

3 Z0{2! Young childrenz} SAt watchQ| A7 S 2 0|Ct,
4 T3 AH|2| =SEli= "be + being + p.p..& &Lt

1

Z=0{ Antivirus softwareQ} ZAl updateQ| ZA7t 50|22
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2 Uy HRSE SHYoH: HORIE 20002 A5 STA
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3/4 2o Amo| HIZHHE FOIQL SAl| SSEAE TR Hzt
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|H|2| £=EH= "be + being + p.p.,OICt.
THAE A|H|C| £SE= "have[has] + been + p.p..,o| HEHZ
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1 F0{2% SAPH sSEAO|CH

2 take care ofz ‘~& SHLCI'| S20|C, SAMLE SZEIZ HEE
0 HX|ALLE HALS WHC2|X| 22 FOSHCt,

3 ZoiA ' ES0| E|0{QUX| 22’9| o|0j0|2 2 doesn't seem to
be tuned7} XgtolCt,

4 2uY F3I|E BE7| Yloto'2l= Q0j0|2 2 toRHAE= 58
0| ZtsIt.

1 70 the Olympic Games2t SA} hold= S 2A0|C},

2 30{ your tickets2} SAt sende £=SEAHO|CH ZSAL will0]
IstEl ZE= "will + be p.p. 2 2Lt

3 F0{Ql 12t SAf invite7t S~ 2A0|Ct, HX|A} about Fof| =5
& SHA} being invited7} 210f StCE

4 =0{2 who2t SAt elect7t =S EA 0L, of F2| SAO|EE

ST STME 2L

p.14
5tetoli= sotCH LOMIE|O|EQ] £=2 Y=OR 0|55 Urt
230 FHISSTEE 6721H0]CH
YA ZY2 +~SEl p.14
0] + SAL+ SH01,
WEIRHS0| M8 SEES YT ZFQ o710l ALSSIC
A SSES0| LIRS0 sl Cifst ZF2| 70l ALZELC
SEiSAIRt ~SEY
X|F0lh= 1202 F 082 SE0| U,
Jeff= B2 HOIM 19| OIS HUL, S| =0] HALC.
4 22| > S p.15
0| + SAb+ ZHESH0] + ZPFH0,
YA FUS0| 18840 X172l 6iMES D=0 FULL
0|52 18841 DA IS0 s AF2| KLldS B/UAL.
K29 o142 188410 ZHA IRIS0| 2fal Oj=0f FOIXC
PHXIAL+ ZFHEX0],
19941 L BSLALS 1= X1J} Kenzaburo OeOf|H| =04 Q4LCt.
Michelangelo?| £7| ZZE2 HLIX|7LE o ZI=ACE.
584l 22| 2 SEj p15

E5I%UCt.
Ofl 25t 80§ AIRSH2= MEE|UC
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Quick Check p.15

1 must give — must be given

2 has been considering — has been considered

1 0f people0| rightsS RO{H= 20|22 4G4 +SE{O|CY,
2 0f Archimedes7} 2|2t +3fAtS & Bt Y2 7HFE[= 702
2 +SEE S

GRAMMAR ® CHECK p.16

1 1 a. think b. is thought
2 a. changes b. be changed

2 1 Your order will be delivered (by us)
2 Dr. Jim-Yong Kim was appointed President of the World
Bank

3 1 | was sent text messages by David
Text messages were sent to me by David
2 | haven't been offered a new job by the manager.
A new job hasn’t been offered to me by the manager.

4 1 became 2 is played 3 resembles 4 to

1 Bach has been called “the Father of Classical Music”
2 The room was painted a little lighter than the furniture

coverings
6 ® calls —is called

7 1 The magazine is delivered
2 | was given this recipe
3 the Nobel Peace Prize was awarded to
4 puberty is considered a trying time

1 1 a whatXo| SX0jl SSE 23o/ck
b. 0{2l Xt 80| SRUK B2 RXI2 (KL= +SEHOIC,
2 a, F0{ot SAHSSEAOIC,
b. F0{2 SAZH +S2AOIC,
2 1 ZSAwillo] Z3HE 334 250 $S8olct,
2 584 SSH 2U2 SH0IE £SH9| F0j2 HIRD 2L
Of= 1 Xi2jof £Ct.

3 F0i3Ah= SX0{7H FIH0|22 F 7HK| eS| £SEf7} 7S SiCt.

4 Z0{ CleopatraZ} At becomelt SSEH|QI 24 2FO|Ct,
2 0 Basketball0| SA} playet =S2A0|C},
3 resemble2 SX0IE = SAO|X|T SSEHE MX| QH=CL,
4 AFAO| ~FEHOIM ZIHZ=ZXI07F {2 M0|H ZEHF X0 A0l
HX|AFtoS 2L} T buy, make 52| SAH= MX|A} fors 2L}
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5 1 534 SSH 232 2M0iS +56 240 F0i2 HiRn S5 Quick Check p.19
ZAH0IE 1 Xt2|0f| ECt sixietE +SEi= "have[has] been 10 2@
+p.p..0ICt.
2 53A SEE| 2X0| EXZH0j= £EEQ| FZH 07} =T}, 1 SAHll2 HEi +SEHE LIEHHTT MR|A} withE 2Lt

2 toRFAR] AM7t FEO| AMELE IH0I2Z AZAM =5 2Y

Z0{ thisQt SAt call2] A7t $SEA O[22 $SEIZ EHE|0{0
6 Z0f thise SAt callo] ZHA|7} £SEH 0|22 £SE)2 H5iE/0{0f AFTto + have + been + p.p.iS 2r}

SICt.
7 1 30{ magazinez} A} deliverZ} $~=ZtH0|C},

2 0 12 At give| ATt =5 A O|C}.

3 Z0{ the Nobel Peace Prize@} SA} award7} £S2A0|22 GRAMMAR CHECK p-20
+SHIE BSHI} ZHFXN0IE 0|2 +SH 7.‘_13._@ I ZHE= 1 1 get bitten 2 got lost
0] Q0| to= AL} ) ) ) )
AR e ) ) 3 didn't get hit 4 did / get married

4 =0{ puberty?t SAt consider?| &A|7t =S A O|C}, 5A!
SaH 22 SHAL = +SEQ| FHEH07 ECh. 2 1 from 2in 3 to 4 with

is known as / is located in / is covered with / help

A
—,—%EH 4 1 Itis believed / is believed to bring
2 It is thought / is thought to have begun

A
A get =ZE| P18 5 1in 2 by 3say 4t 5 to be
S0 2fotH, S=0M= D2 26,00080] Z2S it 6 1 are known for — are known by
DiazMl= 1 ’Elo‘QE =2 F0| EX|= LUK TR E2 FE0IU . .
o l = S B0l &Xi= 12, 22 ! 2 gets not paid — doesn’t get paid
Steve Jobs= OZALOIA SHIE S0 NeXT2LT S2|= MER SIAIS 3 is saying — is said
A|EFSHCY 4 to come into existence — to have come into existence
7 1 get married at the church
B At £SE| p.18 iy .
2 is related to obesity
“We Wish You a Merry Christmas™= 7{9] ZE AIZES0|H 2K 3 It is said that
|
ALt 4 are believed to have invented
HOME SHEEH0 2HE He A2 HEO| LT L
EX AF20|Lt AHS0)| CHSH 2= 2| HO|AEQl £3{22 Zu=0|2ty o
a;ori | I'o I H I I |o T1E [S==rs) I I'-LE 1 1getb|tten§E|Er

2 getlost 22 O

3 get $=EHQ| -.-5;8 "don’t{[doesn’t/didn’t] + get + p.p..2 £
C Ho|~ZEH| p.19 ot

4 get 2ZEf2| |23 Do[Does/Did]Z 0|23 EHSIC},

1 SHOZ M0l thatBALE

O] ARYS S %X 130| 22 7HY2CtD Q=C} 2 1 be made from ~2 BHEN{X|ICHXHZ | HEO| HatsH= 245t
2K} 130] 222 JIHCHT 0{HZIC} #3}), be made of ~2 BHSOIX|CHIHEQ| AEI0| HE5IX| U=
ET|X Hs})
2 Al 2| 2 be engaged in ~0f| ZAttCH
IS M0 2 B 740|121 Ol AkHCE 3 be exposed to ~0f ==E|Ct
Tjel0] T B 240(24T AIEIACY 4 be concerned with ~0f ZtAl0| QICt
WSIAES HO| 46 F T SI=UCL ST, 3 be known as ~2 22X QUL / be located in ~0i| |X[3H ALt/
E0] 469 'ﬂ THo| FYERACH D o ATIC, be covered with ~2 =0{ QICtH

4 thatHg SN0 $SHE HE= 2 7150 itg ALY, thatH
9| F0|E +SE{2| 0|2 £Lt. that=o| AM|7} FHO| AIM|EC
70| H QZHHAL to + have + p.p. = 2L}

JENN
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5 4 be involved in ~0f Z2=|C} 2 "=t
2 be influenced by ~0f| @&k HiT} 6 thatHg SX0|E +EHE UEE ZR 7150] itS ML, thatHo|
3 20 peoplet SA} say= SEBAO|CE O +SHIQ FOZE M1 thatHo| SAIE toRFALZ HHEO| 20t
4 that=0| 2At0| Z0{0|22 710 it0] H3lsiC. 7-11 F0i°t S| £+5/58 BAS WM +SE/SSH 0SS TH
5 2y WWAICIT W25t ANl FHO| LIS ZoOR B BT,
HEAIS Mrt 12 TI#H +~SEHi= "be + being + p.p.,2 LIEFHCE
13 "be said to + SAYE 2 ‘~5ICH 0JAKX|CYe] o|O|o|Ct,
6 1 be known by ~0i| 2J3 24X|Ct 14 Z0{9| Patients®t SA} inform2 S & 0|C},
2 get +SEH| FF2 "dont{doesn't/didn't] + get + p.p.0ICt. 15 be used to + EALNE,S ~517] S510] ALREICF] 2ojo|Ct ® to
3 0] green teat SAt say7t =S EAO|CH making — to make
4 come into existence®| AlX|7t 2FAt is said2| AIM|ECH 1t 16 glass2} reuse’= 2EBAOICE G can reuse — can be reused
710122 AZAIH| £BAH o + have +p.p.,E SO, 17 your password®} changeZt ~&2A0|C},
7 1 get married Z=35iCt 18 no error
2 be related to ~2 B E|C} 19 that®g SX0E 2= SSE 2X0|Ct SSEI2H People believe
3 thatH0| SX0{Ql S T2 71301 itS 0IS5H LIEN 2 that=2 20t
ct. 20 Z0f Mi-jinZt EAt choose= £EHH 0|22 £EEH2 EHSHCT,
4 S0HAF HIFZ 2EsE AIK0| I7{0|D2 AZA|K| EXAL o + 21 30 Machu Picchu7} ‘U7t Mgt HESC| YRXIZ MUCH= 20| ot
have + p.p.i= 2L}, 719 LHB0|22 t2 8 BHAte| ~FEf7H TSI,
22 ZF0{ A 12-year-old’s science project?} SAt showed?t SS&A0|
ct.
REVIEW TEST p.22 23 F0ithe technology} At inventet 20|11 DJ240|22 Dj2f Al
M SSEHE 20t
24 =012l her7t &2 0= HE0|22 MX|AL F0| 58 STA
1@ 2@ 3@ 4 ® 5 Shewas called a witch being awarded 2 E3SHC},
6 is said to be hereditary 7 finish 8 be taken 25 YEiSAt relate?] 251t 0F2l= MRIARE toO|Ct,

9 think 10 is considered 11 to be washed
12 His lecture was being recorded PRACTICE TE ST p.24
13 is said to be an unlucky day
14 Patients should be informed 15 ® 16 ®
17 your password has changed

reduces 2 be kept

was introduced / were being sold 4 of /by 5 ®
— your password has been changed

18 no error
19 it believes that
— it is believed that = people believe that

1
3
6 Taxi spells — Taxi is spelled
7 insisted on be treated — insisted on being treated
8 uses — is used

9 It is saying — It is said === People say

10 What is “soul” called

11 is said to have been invented 12 @ 13 ©@

14 is composed by atoms — is composed of atoms

20 hoped to choose — hoped to be chosen
21 is believed to be served
— is believed to have been served

22 was showed — showed . .

15 it is known by — it is known as

23 will invent — will be invented

24 g bei ded 16 can send — can be sent
on awarding — on being awarde

g g 17 need to clean

25 is directly related by — is directly related to

— need to be cleaned = need cleaning

1 0] 12} A} studyZ} SE27 @ | have been studied — | have 18 People are said that
studied — People say that &E= It is said that
2 ME{ $SE] @ be known by — be known for (~IJ20]| SHSICH 19 @ 20 ®
3 209 ol ZEMES {5 AC= 2J0|0|2 2 SXjtE S22 B
SHOf SHCt, get married= ‘ZEA1S SHCFQ| 9|0]0|CY, 1 Z0{Ql Having a pet at home1} SAl reduce’t SERAH0ER 55
4 avoids FHOZ SHAE Fotl U4 AR BS|CHe| 2J0|0|E22 4 Ef2 ESIEICL
S8 SYHAt being photographed7} X&5iCt, 2 Z0{9l Dairy food2} EA} keep0| £ERAH 0[S 2 SSE)Z TSI},
5 534 Y9 +SHIE U 42 =M= FEjHS} gl0] F2HEO

oz

o
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w
I

Z0{21 wristwatch?} EA} introduceZt £ERA0|E2 $SEZ B
SICt,
4 AE§ £SEf be made of (XHZ) ~2 FFSO{X|Ct / be accepted by (3

r

0;

SR ~0fl SJsH HOFSOIICE
5 20iA ZZWCKO| o0j0j2R 453 SHA} LRSI, @ wants to

respect — wants to be respected

6 02l Taxi2t ARl spellO| == 2AH0|C},

7 XA SX0{0]|11, SHAO|EZ 53 SHA} being treated 7t X{&t
Sict,

8 F0{2l mixture2t SAt useZt =SUAOIDZ +SEHZ BHASICE

9 thato| ZF0{2 MOl HEfO|D 2 BF0= It is said7t MEfsiCt 55
Efi2t™ People sayT 7HSSIC.

10 +-SEH2| Q222 TOI2A} + be + F0{ + p.p, ~2.0] HEHO|CE

11 UHE AHE 0§7|=|0{X|= H=ECH HH0|Z2 AREFA "o + have +
p.p.,E OIE3HA EHSIL

12 2Me 20702] M YR 0IFHO0| M A SHE Pte= Ol S017h= off
X2 2SO0 = QUCHE 20022 S22 HHE0{0F 3Tt @
can make — can be made

13 MERS7} gt=52= SO0{QIXCH= 2|0j0|22 +SEHE 2Lt @ to have
brought — to have been brought

14 be composed of ~2 0|FHX|Ct

15 be known as ~ZA] Y X|Ct

16 Z0{2! Your TOEFL scores®t SAt send7} =S 2H 0|22 £SEZ H
51E|O-|0F SHCt,

Z=0{2l skin} SA} need to clean0| =S ZH0|2 2 to 2 -HAL =52
2 HHSIC E3 need F0f| SBAS AH £32| o|0|7t QL.
012! Peoplelt SAt sayQ| #AVI SSEHO0|EE SSEHE EHE|0f

OF ST} &~SEi2HH It is said that® S 20

19 F0{2I plants?}t SAt need?| &AH 7}t '—Eq74|0|n§ SE ZE B350
OF Bt} @ are needed — need

20 (A) ‘Z=2|E'2| oJ0|2 UHRALTt preparedZt HEALZ MALE (B) AE
2ZEf be packed with ~2 7FSXICH (C) salt and fat0| M7}=|0{X|=
A0|E= +FEZ ST

o)
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CHAPTER 10 d=x

5 1 Mike and me — Mike and |
2 he or she — they

3 their own citizenship — its own citizenship

% 4 threw away them — threw them awa
A QUAICHHAL p.28 y y
1 1 3
1 oLz Ao 6@ ? ®
QroF Of2120| 4AIZt O3t = 10AI1Zt O[S TICHH, AR Alyet 9| 7 1 your English / mine 2 That is him
20| =0 3 Teachers / their students 4 an old friend of mine
Brian2 H2 8 ™M, JRES A 710l 2RILC

Ho|Q. 2 & HOIFAL. s )
1ol 0FA 1 1 =204} AlpacasE X|Z6IE2 7 OIAINHA} they?} Ratst

2 CHETAR} AL .
AlDI(E)S SHQIZ Ofaiat I XFAIL| OIH(S)S 748710F BHC. 2 S=9HAL an old kitchen tables X|ZGt22 2 QIZICHHAL
i PSSkl
XEKS)2 71 M2 SSOICL TH(S) A% 11022 0/EMIX| 22 e - )
2 olct 3 SBAL parentsE X|ZGIE2 SXZ4 QIALHHAL themO| &
' sfaict.
3 SMTA B 4 294 weo| 2Q2{0| HESIDE ourS 2L,
0101 Ftle] LIEMULITE =gl FAI0R? 2 1 XJESH= BAPta student D002 he or she ¥H=C}.
oI FEHEMZLICE $17|7t H9IM O LY, 2 X|ZSH= FA} people 20|70 ARYOIZR 212t F2Dt AR
20|22 they?} theirs £2Ct,
B AR AL p.29 3 XIZ5H= B a lion TH40|1 S20|02 QIRIEA} ito2
uheCt
1 AKUEAR 2 4 X|Z5H= HAZL whales E4:0|22 they2 H=C},

AHSHON = HOISIA| L =5EAIZ HIRLICY,
=2 M7t ESO0| 221 #EHL K HO| E 7H5E0| /UL
=

| 3 1 tolde] X2 me, explained?| SHZ it, MX|Al toQ] X
S22 M30l= 1 =0] AS2| X021 YL

2 MOl us, opinions?| 272 our?t XgtoiCt,
S2HARI pelicans?] AR their, S+HAIRI pelicansE X|

2 0=A8% st =2 they7} MElsICt

9|

N

Jessica Christie= 414 SOt L{7} Z0}51H OfHIY SO SHSCY. 4  A871tafan], this, that, some, any, no 52| SH&AH= S| £
‘A W7t ket 20| OtL|CEELD T= HHERiCY, & QiCt. OISAR4 fof + ARUEALE 20
5 1 FO{0|2Z FZ QIEIHAL
Quick Check p.29 2 SOHAL 2047} studentsO| D2 [HZA} theyS £
1 They / him or her 2 look them up 3 Z0{ Vatican2| ARZ0|2 2 its7} MFI5ICY,
4 "E}SAt + RALE O[O0 SATE SH0{7F THHAL|H Bi=

1 3 ) CHRIARS 24 people 7121722 theyt AT, = Ny of Al SAlet At Mojol £51.
BAH= an operators 7t2|7|2& him or herZt .

2 "EtFSAL + RALE O|F 0T SAIT= SX0{7F CHEALOIH BEEA| E
SALRE 2L ALO|Ofl 22T,

1 ito] ALZLS itsO|C}. it's it isQ| ZAULOICE @ it's own —
its own

2 UEEO| Z0{Ql HH4HAL the mountain lionS Hh= QIRIHH
AIE 2204, @ they have — it has

3 A[AL SFEAL a= BH MX| 11 0|SARAS £Lt © her
GRAMMAR e CHECK p.30 — hers

1 1 they 21t 3 them 4 our 7 1 myEnglishE ARHHAI mine2Z £ Z0|C},

2 your teacherE QA HAL himQZ Bi=Ct ‘MILICLH' = It's
2 1 heorshe 2 they/ their 3 its 4 they me.0|1 ‘N 2ILICL = It's him[her] 2 SXZAS Lt

3 =BAI2l teachers?| A[A2 theirs A8sh= A0 Rt
3 A me/it/us/our 2 their / they ct,

4 SPHAIRl alan]dt ARZ2 S| A8 & IO Tof + ARLY
4 1 afanofhis 2 a brother of hers DIALS AL}

3 some pictures of yours

oz

o

l=)

gg

nx
N
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2 XAl - RH-HCHEAL

A A|A[CHEAR] 2£Q

p.32

1 this/these®} that/whose
O|A[XA]2 wEts Aot FX|Z
10ZH ALO|H OHH 3]9|7} O CH7te= 2
1 Aok, %550
Ch

9_0
| XIF0H 32 E= MF

2 that of ~, those of ~
S30| MEHH|7} YEO| Z{HICt ML}

Mol HS2 CE S252| A= T2kt

3 those who ~

0l 25 Z2IHe S 7}
o )

AFE floh A==

'Oﬂ Y ES=a
H7|HO2 AMtEH

B ACHHA} p.32
1 THHCHEAL] 70
Mark Zuckerberg= Facebookg 2FHHA, 2OI0f|H| X2 E0q, ot

LIS S315HIY

Yl RRLOIAH F=lsHi2t, 22iLt 22 BE 2210 2[MS Chotizt,

2 XY E%'MQI s

[
02
2
I'IJ n

rlo
)
r=
mjo
=
Y
ol
)
el
K
sl
o
ol
)
_O'E
|l

o A3 S 2R0IX/2, BXHAE 2%
of
o

Quick Check

AEYAZE F0/7] H

lel ok—[]|

E=0

142 ofei,

10 2@

1 those who ~= ‘~5H= AIZIE’9| 2|O|0|C},

2 H|WCHArS| HEE =QU5H0L 522 mortality rate of women0f| i

25h= that of womens £LCt

GRAMMAR

1 1 That

CHECK

2 these 3 this

2 1 those of South Korea 2 that

8

Grammar 222_&&.indd 8

p.34

4 those

-

3 those 4 dominate

2 itself
4 himself / herself

1 ourselves

3 themselves

their / their / themselves / their / themselves / their /
they / themselves

1 than parents — than that of parents

2 no error

3 between you and myself — between you and me
4 by them — by themselves

®

1 these days
2 that of a cat
3 Those who have the most money

4 taught himself how to read and write

1 over thereZ 2|4 H ZHAS & 4 U1, T
2 $A5IEE that0| &2I5ICt,

2 AFHOIMS XNZ22 HEld 72 AYdE & + UL, =

A2l documentsE 4=AIGIE 2 these 7| Xgl5iCt,

OHAF 71772 O|2HE LIEHHE 2 this7} X EtoICt,

b QaE A0 CiSHA SiEotl UL E+HARI daysE

{of SI2 2 those7} E‘QFOPEL

1 S0 =S T[] flsh AFBE 4 U= WHAR= that of
2} those of0|Lt, territory and populationg X|ZSIEZ S5
CHEAf thoseS L.

2 307 HiES 57| {ohM ARRE = A= B
Ct.

‘~5h= AIZHE’2| 9|0| 2 those whoZ £2L},
29| 0{Z MOl Those who ~= 24 FF St

HAIR! building

1]

Y
4> HO r-Iu 02
or 0

1z
oI

S12 that of0|

a little bird2| XHLCHHA} itself
old people?| X FHCHHA themselves

3

4

1 weo| ZHFCHHAL ourselves

2

3

4 CHEHARI a person?| XHFHCHEAL himself or herself

SR= X2 of0|S 1t XS HfshM =S Ttk AESO0ICE O
2{Lt 2i0tet Otith= RRLISO| &S HOtOF BTt J2HM XSS #
g 22 sh= 0| 0]7|X2l 0] ofd &= ATt FEIF XSS H

BAT T, 00ISS B & E & 4 Uck

Z20{7 the influence?| &
H32 that of0|C,

no error

between2| 521 meE &Lt MAHBAIS £ 0|17} QiCh
by + XHHCHBEAL= ‘EXHalone)'2| Z20|Ct,

[y

H=2S Tok7| HshM ALY &= U=

g H WN

22| MHE F0j= youl|22 FX0{2t X|Zoh= 0] T2
Ct. @ myself — me
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7 1 these days : 2Z0]
2 =0T sense of smell LAl thatS £2L
3 ‘~5l= AIZE'0| 0|22 ‘Those who ~'S 2L},
4 teach oneself= ‘“S38t5}C} Q| E20|Ct

BHIHAR} another, the other,
others, the others

A SHBA

1 FZEEAR 7Hd
ZE AOA 22|10 2E JENME S E2 X0| 7] OHH0IT
Jd= Altshs 422 RIS SEHRKIY, L= Ot A E EX| AL

p.36

2 BBt AFHBAL
Ltet 0I0F7|E Ltz 2E MEHSE2 AHISQ| F7|%{Q1 O]2H0i| thalik= o
2EO0|UCE,
2o =2t ZIE MAI2H, MO R J|AE AO|C,

B one, ones, it p.36

Blof 40| LIS ATIR, i 22 7120 2 HOE HEE £ Ct,
Janet2 X|LIZR0] iPhone 68 AT, 2 122 TS A0 Zof
3,

L= 0] Alo] H202. Xi7]0] 2= X & HOFAIR,

C another, the other, others, the others p.37

1 anothere} the other
£ I09| AZ0| ULt Stttz HCHEQI AEFJO|L, CHE Stlks IXXQI
AERO|CE,
JimO| LHA| Ml 7He| =S HOoFUL) stlte U, CHE stite S8t
0], 72|20 LHHX| St MEZ AL

2 others?t the others
Tl O 0f2| o] of2tE=20] UCY, Stib= 10|, ChE
A{O|1 LIHX|S2 ZOtXISO|Ct,
O AIMER2, 259 M7t &4 AAR O & 3|SAIZICH= 0[RS

O=2 [t 0|SELH O 22 ATt

fLf

ol
rir
02
b

3 each other2} one another
AR} M2 MEO| WSS WOHS00F SHt,

HIS0| HOF4E, B2 23150 KIHAA M2 401 S0t UL,

Quick Check p.37
1 ones 2 others
1 =738t =4l clothesE X|ZSI2E ones?t AElSICt

2 YoM UK b2 5+BA S0 IH2 some, LHA| CHE HH2

othersZ £Lt,

Grammar 222_&&.indd 9
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1

2
3
4
5

GRAMMAR @ CHECK p.38
1 anybody 2 somebody 3 something 4 anything
1is 2 needs 3 his or her 4 their
1 one 2 it 3 one / ones

1 the others 2 others 3 the other 4 another

1 one — it
2 them — ones
3 no error

4 each another — each other

1 @ something — anything
2 Q the other — another
3 @ have — has

1 Everyone is equal
2 than those ones
3 the other one is

4 They compete with one another

2X20{A= something, somebody=E M1
£ anything, anybody= AF2StCt,

SEEI AZEAM

2 1/2 2F0iEAL nothingt everyone 52 4 FZEITH

HHEHHAZ} ©4-0|H he/she, his/her, him/her S& #ALCt.
BHIEA L 24:0|H they/their/themS £LC},

EX5t H-HA= tHHAL one0| XlSiCt

et HrBAks THEAL itS L0
CtA

THAR= At one, S-FAH= onesS L.

P WNR AW

YoM A= =A S0l HHX| HMHE 72|12 M= the

others& £2C},

2 HoliM AX| k2 S+TAL S0 EE2 some, LIHX| CHE R
2 othersE #2Lt,

3 29| 2 W3 X|&6t /82 = I 2| oLt the others
2Lt

4 M| 7H2| AL B0j| otit= one, & CHE Stt= another, LIHX|

otLlE Mol A2 B Z the other EE= the thirdS £2LF,

EXHA}L your calculatorE X|&IGIE 2 CHEA itS £2LC}
=53 52HA shoesE X|ZGHE 2 ones7} MElsICt

no error

‘ME MZ'Q| oJ0|2 MOl EXMI HAN= each other EE= one
anotherO|Ct, & 5 74O HAI HFE|H each otherZt XfHA
=g

A WN PR

6 1 something2 2EHZ0|A anything2 2 HHLO 2L}

2 EEFSTHHAIE 712|7|22 another one0] SC}
3 SHHA everyone2 Th= FFSICE

O

o
o

g
o
St
nx
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7 1 S2HYAeveryone H4= FIZSICE 15 ‘UALS 7|A5HK| Rt ARSS 1742 HHESP E[0{QICre =0z =
2 Qo] TIA} trouserss EAAI|DE M)A onesT} X3t Ol those who (~6t= AIZE)0|11, SX0{= the past0|2Z repeat
SiCt. itself7t Obl repeat ite £2Lt,
3 Z22 £ 0|22, 5lLI7t oneO|H CIZ tLt= the otherO|Ct, 16 no error
4 ‘M2 MZ'9| 2|0/l one anotherE 2Lt 17 = 72| HAL =0 5tLt= one, LIHX| StLt= MaiX QIS 2 the other

Z 20 ST F M| Y222 the other side of the coin (AF20]
Lt A&o|) OH2 H'g 7t2iZICt,

REVIEW TE ST 0.40 18 EYIFAL no one2 H4= SAt seemsE 2Lt

19 % 7§ 52| ‘TIZ stt= Hali A QUCH ® another — the other

20 "EtSAL + RALE O|R0{T SAMLE SEOI7t LIHALO|H HIEA| SAIR}

1@ 2® 3® 4 ® 5 hisorher 6 they EAt Ato]ofl 2L+, @ fill out it — fill it out

21 "each of + 24:HAl= F0{7} eachO|22 SHSALR}E 1A MOILY,

22 control2| Z=0{7} a state or thing0|11 control2| SX0{L a state or

thing0| 22 MHHBALZH QS|

7 has 8 themselves 9 those/are 10 One
11 others 12 another / the other

13 Something strange happened to me 23 =0 youZ} believe in2| ZX{0{2t ZH 2 IHHCHHALZ HFEO{0F SHCt,
14 those who hurt you 24 those who ~= ‘~5H= AIZHS'0|2H= 0|0 EAE AL} 1A MOICt
15 to repeat itself — to repeatit 16 no error 25 "EtSAL + RALZ O[R 0T SA= SX{07F CHEALO|H HIEA| SAtRt

17 another side of the coin — the other side of the coin AL AOIO 2L,

18 seem to know his or her way — seems to know his or
her way PRACTICE TEST p.42

19 & 20 @

21 have its own symbol — has its own symbol

) ] 1 something 2 others 3 themselves 4 another
22 to control it — to control itself 5 yours/yours G owes 7ae 8@ 96
10 TVitselfis 11 You should turn it off 12 @

13 ® 14 behind them — behind themselves

15 its keen sense of smell — their keen sense of smell

16 Others — The others

23 believe in you — believe in yourself
24 Those who laugh more is better

— Those who laugh more are better
25 |ook over it — look it over

17 these of the less wealthy — those of the less wealthy

1 CHEHA S400 a bird0|22 AQZHL jts7t MEISICH @ their
wings — its wings 18 throwing away them — throwing them away
2 E9Y our ballg QO|StEE ‘R2|9| 22| ARQHBEAIIL HRSICL @ 19 ® 20 @
Our — Ours
3 Z2 2HOIM A0l L2 HAte| HHES M|5L7| 2I5H that of & 2L 1 ZZ9| Li20| 210 522 something0| X{3t5ILCt,
4 51O YA B0 SHLts one, LIHX| StLt= MaoliM UQER the other 2 HaHK UX| 42 E4FA S0 EH2 some, LIHX| OHE EFH2
£ 0t othersZ= 2L},
5 SYOOAE 20ie| NLSS ot T2 MOl CHEHAK= CIFNEAL 3 SX0{7t FO{Q catst 22 [hAS XIASIEZ MHANHAIZ F3H5HO0F
he/she, his/her, him/her SQZ #L}, SICE,
6 WEFA} 5= peopleO|22 {HAL= they/their/themE HBAMZ 4 ‘ME MZE'9| 2|0|0|Z 2 one another7t HE5iCt,
== 5 AQZ1} afan], another 52| SFAHS &M MX| 2511, 0|5A92
7 SHOHAL everyone2 T FZSICH fof + ARUSALZ 20,
8 02t FX0{9| X|Hsh= 0| SUSH B2 SHNE MANHAR M 6 SZXHAF no one 5L
OFSITt. cut oneselfi= ‘#|0|CF2| S20|C, 7 those who ~= ‘~8l= AIZIS’0|2t= 2|0|0|22 whoXE Otof| EA=At
9 those who ~= ~oh= ARYE0[2t= 520|101, 24 FZEICL are7} 2L},
10 5 7HO| HAL F0f| 5tt= one, LIMX| StLt= Mol QB2 the other 8 H|wQ| CiA0] your biket my bikeO|LCt,
£ &0 ® than me — than mine = than my bike
11 FHoiN UK %2 S2HA S0 2HS some, LIHX| T2 2H2 9 make oneself at home2 ‘m35| 2|CtQ| S=0|C}.
othersE Lt 10 itself= IHHMHBALZ ‘71 XtA2h= 2J0|2 22 HHE 8Hoz 4y
12 M| 7§2| HA} F0| SHLt= one, & CI2 siLt= another, LIHX| sLt= 2 QICt.
YoM YA the other Ei= the thirdS 20t 11 EKSAL + RALE 0|201Z SAHLE SHO{7E HZAIO[R HIEA] SARRt
13 -thingR 2 Blt= A= ATt RO $=AlSICE EALAfOOf £2L0F,
14 those who ~= ~6t= AFEE'0|2k= 520|Ct 12 S20{7 fingerprintsZ B2 2 Q= HA= thoseO|C},

10
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@ that — those
13 the wordE H2 4 Q= 742 AQA itsO|C}, ® their — its
14 0{2F HRIAL] SX0{7t XY= 0] Z2EE MHUHBEAE MOF

St

15 X|Zlot= CHA0] E4HAR! dogs0|2 2 their keen sense of smell0]
H313iC,

16 Y LIHX| MRS I’"é'ﬁf— 20|52 the others7} XI5IL},

17 S0 tax rates2| HHES O|5}7| Q5 £ 4= Y= EHE those of0|
Ct.

18 "EtSAL + RALZ O|R 0T SA= SE{07F CHEALO|H BIEA| SALRt
SALALO]O]] 2L},

19 69| they= Rock stars and other celebritiesZ 7}2|7IC}, LIHX|=
5 bodyguardsE X|ZISHCY.

20 (A) F0{2t SAte] SH0{7t X|Hsts 40| 2202 MAEAS
20 (B) FOE FHE = A= A2 SYAOITE (C) FHHA} the
essentially creative act= Tt LHEALZ BH=C},
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CHAPTER 11 mxuast gaa

2 According to scientists

SIALO| MOl ==
: NlT 1 I.JXMH M I:!J_ll' ST 3 in the same part of the brain
” 4 as physical pain
2 o
A Hz[Afe| 2 phb 4 1y 2 with 3 for 4 as
X 0 rom o 0 o
LR 5 1 of 2f 3t 4 of 5 of
MAOIM 7He 21 DR ER= S30] U 18 TR 200}
1| KFAIOH CHEH 718 SH L= 242 HE O £ AJZH0| ) Bt 6 1 was translated into Korean — were translated into
U= =XIS OiA7|2H Sl B2 HE2[E HAAZ = U0t Korean
_ 2 no error
2 ML Mol .
_ _ 3 between you and he — between you and him
X[OF AtO]2] SAIE0| M2 MHEX| 22H SXIE 7H42Ct . . .
22 HE} AHASE 10HME "7}§,'1Et. 4 of make mistakes — of making mistakes
z|Alo| =2 7 1 The names on the list are
1 Ol =
B - I I‘ I o1 p-46 2 between a man and a woman is
1 AJZH®EIAL 3 of releasing emotions from our bodies
AR B{EHO 18M|7|2E| 19M17|7HK| LO{T}, 4 By reading interesting stories
DE WE QF2 Y F 14 O|LHo| OR0{XOF SHCY.
1 1 ™X|AR in SeoulO| HAt temperatureE $=Al5H= AT
2 FA HRAL 2 H™X|AIF with natural ingredients7t SAt are madeZS $=4|
41% OJ2| AFHE0| TS AUA HAS SHHAM A7t FH2E W= Sh= RAR
Ct, 3 MX[A Under any circumstances?t At cannot be
gotat S22 ZH|AA = 19923 8& 24U0|| 0|20 XL, justifiedE s=Aloh= FARE
_ _ 4 MX|AI7t at department stores7} At displaysE Al
3 7IEH B2 HAIMQ} FHRIAL SPANEY

DonneIIyMI7} g RIS 2ot Y| =RSS AU

o T = “ " CpAD ne AAlg e
0] 31 CYAMRION 2B, H5t 3 B0 U=ol0] K| HE0S b 2 1 of the word “volcano™= Et4BA} origing $AIGH= A
om ot 2 inyour body= S+FAt cellsE $AIGH= A8AT
BLEIN
B 3 in poorer countries= 24HA} peopleS $AlGH= AT
. i ime0| SA i £ 4
Quick Check D47 3 1 from t|r.ne to tm?ne |. = texpene_nce £
_ 2 according to scientists7} 2AFA| 441
1 refueling 2 are 3/4 in the same part of the brainilt as physical pain0| SAt
i = AA|
1 AN IO TIAL AL STARE Ar is processedE 4|
2 HXAHO| =4S Hh= 3017} flowersO| 22 E-FAHE MOF STt 4 1 by + XL
2 "with + E3,
3 09| Mx|A} for
4 Xpzio| MX|AL as
GRAMMAR ® CHECK p.48 Al ExA
5 1 YA} the rarity of four-leaf clovers SHOZ = FHX|A

1 1 in Seoul / HEAIH
2 with natural ingredients / At

because of 7} X{gt5ICt,

apart from ~ 0[2]0f|

according to ~0j 2 H

in case of ~2| Z<0i| (CHH|5t04)
regardless of ~0f A2t2{0]

3 Under any circumstances / £A
4 at department stores / AL

2 1 [of the word “volcano”] / comes

2 [in your body] / react

2
3
4
5
6 1 Z0f articlese= 243 At were7} X&s|Ct,
2 no error
3 [in poorer countries] / are 3 XX|At between 0= S XS 2Lt
4 HXA Fol SAR I-HROI 2 SHALS 20

3 1 from time to time

12
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7 1 MXAE on the list7} A} names= S{0flA 4] 2
2 AR MO| MX|AtTL between a man and a womang =
AlHH= A relationship {0f] 2L}, 3

3 TR of FHoil SALS| LHIEO| 2T SHALS 2Lt
4 HX|A by Floff SALS| LiB0| 2 SYALS 2L ~EeEMC|

=0|ct.
4A ALO| MOITIE =2 4
ON[hy) 2 FESALS] Ml EBF
C oA
A SHESA p.50
1 SHSAR HBTAA Ml
432 Msat o ZHUCH 5
MBS Kot ofat = 20l|E YRUCH
L= 2R2EES So 18 MOIS $2 B AN + ULt 6
U 2|F2EE S5l 18 kS et £ T AHE &2 QU =
2 MBESARL YR
Mike2t L= & CF AEstS MEot UKL L= 1 20F= XYs &
Xt ob= 7|Ch7t SACh
Jennifert LI 2| & MeH|E SYE S&5t =0] Sict
Jack#t OtL|2} CHE XSk I 22|X0|1 HSHO|C ]
=2 N A
B E&58&5A p.51
1 S&UANLEEY
DE A2 HHl7t 25t 3540] UCh= AS Y1 ULt =
AlE8it= MES S5k HsIXto|Ct,
JU= O3 6R7t JAUAKITE E4A|S ™ ERX| QIRUACH.
2 ZS&ETSALL QEA 3
L7t ZIEO| N SEotA| RS I 0{EA HESSk= W0| £271?
9IX|7} Q= 01| Z0] ULt
SIS S0{EAIR. i3t} O|RO{X| 1L Q= A2 SHQITF?
HA2 L[] USM? IR =0l UASTI?
4
Quick Check p.51
10 20
1 AZHESAboth A and BE EHMOZ 1S3t chof, 7, M2 F= o
ZASiTt,
2t} AHIE|= SQIM2AL butdt 0|22 H|A|SH= becauseZt L5} 5
Lt
GRAMMAR ® CHECK p.52 6
1 1 and 2 yet 3 or 4 so

Grammar D22_&&.indd 13

| T T —6— (T

1 notonly 2 or 3 both 4 neither

1 while we were asleep / SAE

2 that most people have kind hearts / HAE

3 why the average lifespan for women is greater than
that of men / HAE

4 that tell the stories of people’s lives / SZAtE

1 were responsible — was responsible
2 and South Korea is — and South Korea are
3 neither here nor — either here or
4 Neither my mother nor | has
— Neither my mother nor | have

1@ 20 30 4 ®
1® 2® 3®

1 but a banana is

2 because[as] it was too popular

3 Where there is no beginning

4 when we talk / we like

A7t SE0f T2 £7}0|22 and7t HBaiCt,
ool sieye| ojojel yeto] L.

A Z2 BO| £O2 MeIS LIS or

AD12 FIAIH so7t Hgsict,

not only A but also B= ‘A3t OtL|2t BE’
either AorBe AE=B’

both A and BE ‘A2t B = CV

neither A nor B= ‘A B= O’

LS whileO] 0]T1= AZH RARE

£ Z&Al that0] 0| 1= H0| SX0] HetS 5= TAE
why 0[8}7} know2| S2X0{Z MO| HAIE

thatO| 0|11= Z0| @At booksE $Al6H= HEAE

==
S
==
S

R D ODNPEP HAONERP HODNPR

A as well as BE 2|04 AE ZXs6IEE Kevind| SH= SAt
wasE MOF St

2 both A and B7} T2 M0|H E4ZAIS 2Lt

neither A nor B = not ~ either A or B

4 Neither A nor B= 2|0|A BE ZX5tEE |0 2= SA} have

£ 20

w

F&AL where (~8H 320)

O|2At where (0{C|0f])

O|2At when (21X])
3

HEALwhen (~& )

R hWDNPR

e 0x @ e

ol

21012 MAISHE HSAE 25Tt so= ZME FAISHC,

so — for IE= because

FEFEZAL not only A but also B 0|A A2} B= 2HEoR =
t SJEHOHOF BIC}. @ to listen — listening

r

was 15

X
it
a
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3 Z4TSA because FO= "F0{ + SALR! HO| 240 BHTY.

@ because are — because they are GRAMMAR CHECK P56
7 1 Hiyo %_?_ljéi_z_.‘:Al. buto| X35}t 1 1 However 2 On the other hand
2 0|R9| Z&F A AL because[as]7t HetSILT, 3 In addition 4 therefore
3 ~&h R0jI'Qf £ &AL where
4 '~3t 00| Z=E01 MAA whenO| LQSICH ‘©a|7 S0fste At 2 1 for example 2 Nevertheless 3 furthermore
E'2 people we likeZ £Lt, .
3 1 However, Nevertheless § 2 otherwise
4 @
5 1 Therefore / Because 2 In contrast / whereas
6 10 2®
A HEEA| 29 p.54
7 1 However[Nevertheless], it is a little cold in the morning

1 HARARHAAL

M7t LItEA, RE|= oS A7 ISHCH

2 Moreover[Furthermore/In addition], she is an excellent

SMZE LI | T2, -‘?-;; ;13@"; H7I34Ct avyer
LN} EX| QOUCH TEM, SBHs O3S ot7|3ICt 3 Therefore[Thus, Hence/Consequently/As a result], we
M7|2 22|52}, 1K QYO HIS LHOFE Lk, postponed our trip
L|7F M2|7|12 22|6kK| $OH HES LHoFEt ALt 4 Above all, chairs should be comfortable.
U= MY7|1E Z2/oH0f STt K| ™, HES LHOFE 7Tt
1 1 Y=E}o|O|7} HCHO| 22 MA&EA however
2 BERAL 2R 2 LH_’F_QOI H2H AL On the other hand
ZFMHZAZ0| ZZ0|M= S50t 20z S5t DA HIZHHC= 3 o|0|7t B7tEl= ASI0|2 2 H2EA} in addition
O47{ZICt, 4 Z1o| LHO0| HA|EZ 2 ML 2 At therefore
Ad = 2 1 OJAE LiEH= E&5 AL for example
B 7&1—_7—,—A|'9_| _6-% p-55 2 CHZo| M&E AL however, nevertheless
Ted7} QU0 ZRHOR, Qe HEE H2{Z 4 QUL 3 #7421 E2 NBSt= furthermore
182 7Hs F2 0|0}, J2{Lt 25| Otk o|Ct, 3 1 9 2} XS LEHLHS MAEAL however, nevertheless
SHYS2 0 S0{710F SHTt, JEX| LM, XtAS MM B2 CEWN
Ct. 2 of BHHITHER= 2hete| 70|22 HER AL otherwise S L.
2812 S8t A0 LA O{24RICt OREZEXIE, TSl M = O Ct
SOIHTHE s SUSHAIZ0|T, S7E LS [HAIR 4 STt 4  ZAE KMok EAEAR! therefore, thus, as a result S0| &
EMEOIS HEISIX| I} TI20|, SIS O| S50 AfsH7 St SI5iCt. @ furthermore — therefore[thus/as a result]
S2 2740] HO| LX|SHK| =Lt AMM2, 152 O N0j 2|740] 5 1 XMW So= SI2A0| HAQI Znto| HAEAL therefore= £L}
YR[SHA| B=rt S S0fl= 019 ZLHS 0|11 ELELANE because}
O A=2 43317| /ls 5 7HX17t FRQSICH &, AlZtat =0|ct, XSI5IC,
CIE Y251H, Y2 1R F88t 7|&0ICt 2 W Soll= 2| 2ARRl iX2| LR A} in contrastg £
Lio| oac 2=, A¥E 0|1R= 40| LIS A 20t O}, EM S0jl= (X9 ZSAFS 0|1 SATSAF whereas=
Jej= S0l JH= 20N LS AL ML}
6 1 RZH FA0|H =2 20|E 71 HERAIE MRSt
Quick Check p.55 ® Even though — Nevertheless, However S
10 20 2 IAZHO 2A0|H Q20| o0|E 71Xl HERATH HRSIC
@ On the other hand — In short, In conclusion, In other
1 o 20| BHCEE T ZH0|| £ Hio| HE AL howeverZt & words £
2ot
2 9 2x0| Bona § 20| 43 o0 KA in short7} X 7S BRI o e s
at5ict 2 F719| 90|E LIEHH = HERAL
3 ZIE LEHH= BAHSA
4 ZXE LEHH= HE2A
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REVIEW TEST p.58

16 2® 3at/in/X 4 on/on
5by/on/X 6 @ 7 @ 8 between 9 was
10 yet 11 However 12 EAE 13 BAE

14 HEAH

16 However, | love them

15 Neither my father nor my mother likes

17 is more than three times — are more than three times
18 Thank you for friendship and for be there
— Thank you for friendship and for being there
19 need to be encouraged — needs to be encouraged
20 not only destroyed the fishing fleet
— destroyed not only the fishing fleet
21 by tomorrow — until tomorrow
22 in next month — next month
23 also the body — and the body
24 and how to swim — and swimming
25 are the best choice — is the best choice

1 HX|AFFOl= 2XZAS 2Lt G between she and John — between
her and John

2 HIAFXOME ZYHRE Z2 FTRE HAL0{0F Bt @ and to
swim — and swimming

3 at+ A|ZH(~ Al0]), in the afternoon (250)) ; every Sunday (XQ¥
otc)

4 on the street (Z 2/0]), on weekdays (FZ0f)

5 music by ~ (~0f 2lsH ZFE 22), on #+ (~& ~of)), this year (&

6 YETZAteither Aor BE BHHCZ 22 722 HZL| 00 SICt

7 HETSAnot only A but also BE B &S & HEH0|E2 SAt=
BOil 2X|AIZICH

8 0| S¢ EL betweenS 2L}

9 29| F0{&= customO|E2 SAf was7t XEoict,

10 AR AZH0| M= Y= 20j0|2 2 H&ALyet0] MBS

0e
11 920 YHE & H2WW 0HOR HHED YOO FALA

12 if7} 0|11= =742 RAPHO|CE

13 why7} 0|T1= H0| SAt wondered2| X0 &S 511 YLD HA}
Hojct,

14 whyH0| M&liAl reasonsE $Al5H= &

15 neither A nor BQ| 2 SAH= BOj| YX|A|ZIC},

16 AZHO| HAE = AZHY oO|Ho= HALD o= FHYERAL
however7} X&tsICt,

17 2H9| F0{= patientsO|2 2 S-S At are7t HESICH

18 HX|A} for F{Ofl SAt2| LIEO| 2 SHALE 201,

19 A as well as B= AZ Z4X5H= B30|22 SAH= A0 YX|A|ZICE

20 HEAXROM=E SHHCE L2 XE HZAL0{0F SI2E destroyed
not only the fishing fleet but also the houses7t M5}t

21 EFAITMNX| SE0| X|&El= /00|22 until0] HESiCt

oo
>
T
=)
In}
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22 next monthi= TX|AL QO] XY 2= Q= BAIOICE

23 both A and B= ‘A%t B & L2| S20|Ct,

24 and F0f| BHEOZ ZH2 X0 SHALZ HZA|0{0F STt
25 either A or BS| ZQ SAH= BOj| YX|A|ZICEH

PRACTICE TEST p.60

1 among 2 since 3 is 4 Forinstance
5 Onthe otherhand 6 For example 7 In addition
8 Neither /si 9 butalso/ have 10 are —is

11 is in the feet — are in the feet
12 and has intelligence — and intelligent
13 or sell it — or to sell it
14 not only was too expensive

— was not only too expensive
15 is—are 16 and looking up — and look up
17 are a real functioning steam train

— is a real functioning steam train

18 Unless — Otherwise 19 @ 20 @

m|

fato

40| A 0|21 B2 amongsS 2Lt

7101 SZO0| AIZfE AI”E 7127|122 sinceZt X &S5l

| Z=0{= Public transportation0|2 2 SAt= is7} MESIC
|E MAISIR2 22 For instance?t SICt,

-7 AZHO| period2 AZE £ AZHL 0N HATH= HP H
St TMEEAIS 2|0]0 45| MO St on the other hand (Y&: J2{LY)
for example(Gi|A|: 0|2 SH) in addition(&7}: AT

neither A nor Be| AL SAt= BO|| YX[A|7 &Lt

not only A but also B= BE ZEsH= BE80|22 SAt= BOj| Lx[A|ZI

.

OH.

1% 0k S
N H oz

a
!

a b WNPR
2 A
19

ol

(<]

©
ml

Xto
3ol
o

| Z20{= parking lot0|2 2 TS At is7} MEtSICt,

| 017} one quarter of the bonesE 24HAO|ZE ELEAL
res L.

12 young, enthusiastic F|0| X2 YAt intelligentE MO StCY,
13 either to paintQ} Z2 SHXT} LWQSIC}, [2tA] or to sellS £L}
14 50| but also too boring0| Y2 EZ not only F 0= too expensive

10
11

HOo HOo

@

=2
15 2&9| F0j= namesO|E2E SSAt areZt MESILt
HEAXOM = ZHEE 22 SALL LEE HZAE(0{0F i}, and F

Z9| Z0{= Hogwart ExpressO|2 2 TS At is7} XEISICE

ot FFFO| ‘K| Tl o] ZHS LIEHNT, periodE &

EYE QUIM4CE HZAGHOF stE2 iXQ| 2|0|F 7HX|1 U= HSH
HAL7} OtherwiseZ} X&tsiCt

19 dependent on either ~ orQ| LIE0| 2}0} 3t} @ nor — or

20 (A) SH2Z0| Y2T| LHEO]| TSt OlAI7F FIHED YD HEHAL
for exampleO| Xst5iCH (B) ‘I1ZX| LCHH’O| LHRO| S0{710F 5122
otherwise7} M&!5iCt,

15

o
o

L=
o
St
nx
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CHAPTER 12 =3x%

1 that@ 2 AlAfoh= BARE

=z
Ho| MUN ZTF A
1 2ol sl
27t 1 H2S 0fC|of UK} 0{XE| 2AMIICE
LoE BE0| 9 PR BEEQLK| HAIG| UX| T3,
DE QIS O{ZA HIA0] REEEIQUEX|0] 5 ZIKIS] MBI} QL
BHHIO] M R(EH20| YTH)O| DES AR ZIAS AT YCim o
af0F BtCH= Zo|Ct,
2 HARES -"S—-rEr

Qo= 2EE LH2|3E Q= 0| I'*'OIEf
S=h —.% | o] G20l 7He = SE=XI0f CHSH 2F5HOF SiLt.,
TM FIERT7 23 HOMX| OFHX| Y24FM Q.

that2 2 A|ZteH= HALA p.bh

that BAFEQ| Mol
7RIS HAHHK| 212
Hoict,

Q2= 2AEI0P7H T 014 RROI2 ABHX UECH XS ¥T UCH
227/ AHIRISO0| ISS SOICHS AP 2210 91

Jeffol ROl L3t A Q1442 T7h Bt ARIZICHE ZOIRACL
QIEFol OfH BIZ0| L2 PSS MHHOE QA

S AHiE 2|7t Uoh= 230t

BE AOE S5Y0| Utts A2 & LT AL

71F0] it} 72 X0] it
Sr=0ll= oAt MMESO0| Q1 Z40] AFRO|CE,

Lt= EmmaZt RO MHE 2FSHK| o= X0| 05Tt MZISHEL,

ol

be + YEA} + thatX p.65

Q

L7H L0l 1 S ZH0l ChaH AIKISt LB S LaiZx| 281 S2o|Ct,
L= O] ARIO| ADIEZES 5= 2402t SAI5HLI?

ick Check p.65

1 was

2 that

1 29| F0{= notion0|22 HH4ZAL0l was7t XEl5ict,
2

HAt beliefet SARA 0|22 FEAL thatO| BTt

1

GRAMMAR @ CHECK p.66

1 that loneliness weakens your immune system / 580
2 how the human race began / 204
3 Whether you agree with it or not / =0

16
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4 that her child needed special education / &4

1 deny +/ that
3 the view +/ that

2 hope +/ that
4 is «/ that

1if 2 Whether 3 how

1 the idea whether — the idea that
2 I'm afraid because — I'm afraid that
3 thinks necessary that — thinks it necessary that

1 that 2 that 3 whether 4 is

1 ®That— It 2 @ what — that

1 Itis true that

2 A study in Sweden concluded that
3 The news that the war had started
4 | am sure that

that APEO| SAt| X0 Hgt
OlZ A how?} 0|11 FAPHO| FHE0
&AL whetherZt 0|11 HAPEO| £
HAt proposalt that=o| SZ2HA|

k=1
=

o
B
thatZ0| SAt deny2| S0 &gt

thatX0| SAt hopel| FX0] Agt=
HALview?t 1 F 9| thatXH0| 524 A
thatH0| SAtis FolM FZHEHO| At

"decide if + H 2 ‘~2IX| OFHX|E ZHICHe| S0|Ct,
E2aA~OIX| OPHX['Q| S22 7HEl HAPHO| 0|2 MO|H FEA
= whether2t 7Hs6tCt

3 2IZA} 0|= BAPHO| MX|AL aboutl] X0 ks 5tal /U
Ct.

NE HONMNRER HODNER

1 the idea?t SZES 0|11 A2 EHA} that0| sl

2 "be + YA} + thatH 2| FAIO|C},

3 534 EX0IM HAPHO| SX0{0|H, 7t5X0] itS
Ol= SHZ{E0| Fofl 22CH

o S

12

=
0x

acte] SAHS 0|= TEAf that0| ZFHSICt
At ‘~OIX| OFHX|'Q| Z=01 T A whether7} RS

o A ;
2 MOl FAFE2 H FF St

fthatES FO|Z A1 7120 it0] Q= 2EOITt
Ei
=

=
=

4% FHD o2 MO
2 =

71701 212 B 4 Qs 2 AL itock
74
2

YAl beliefet SHES 0|F= HEALE thatS 20

R NER H»ODNPER

7tE0] its

that HALEO| FO{Z M0|H
Off L.

2 thatZ0| At concludel| SH0|

BHAF news2t SAXS 0|F= that HARE
4 be + A} + thatH,2| Al

M7 that¥g 2%

w

2015-11-05 2% 1:56439




9_|_E_A}9|- if/whetheri AP&II-@}E 2 1 why 2 shecan 3 if 4 Whether
%‘*Pg 3 1 What do you imagine the blue whale looks like?

2 Do you know why Mona Lisa is smiling?

A OIRARZ AJASHs HAH it
4 1 how much do you love them — how much you love them
1 2AZAL BAMEe 29 2 how fast is it — how fast it is
0= 1002 X|H0l| =7t A=X|7t A B ZZ0|RACE 3 Whether astronauts actually get
BaEkerMI‘; ?:;ﬂ mﬂf%j‘—fﬁi% QE?&E}H: — Whether astronauts will actually get
;xm zl':t01:f1°: T;EZéi; ;Eg%néié gd?_'ﬂ‘}'}\llf 4 if you really did the right thing or not

— whether you really did the right thing or not

2 OIBA} U o220 ZHOISE M 5@
Lfi= OtL|? &2)7|= oL 2 714?
Lit= 2717} O{EI2 7H=A] OFLI?
“*EH%‘-J F0| sHts ELSHA| SHL? 7
Q10| aHits ZUSHA SH=X| ZaHF.
e 257} O{ ) SSOFCLT 21U
L= CHetel £ 7[50] £A0|2t1 H2t5H?

6 1@ 20

1 how | can get to
2 What do you think will happen
3 iffwhether] | love him or not

o %

4 whether UFOs exist or not == whether or not UFOs

B |f/WhetherE AIJ—HI'%I‘E %Al'zé p.69 exist
1 if/whether ==ULP=*°| 1 SIEAP} U= EHOIRE2 OZAL + 0] + ZALS| 00 7HY
237t H|3H7| BE FojEt E | OfHX|= CH2 2R|o|Ct, O|REOR HRELC SI2AL gle ZTQIZEE Miffwhether] + 3
L7} 20| LQEHK| orl—|x| LA 2rshz. 0] + SALL| Ol = ZHHOIEE O = HHEC}
Paul= 10 EXfSH=X| OFCIXI0H B2t 20| 2Tt 2 12U Y HE2 HY AYQIK?E 25 ZHOIRT00R o
Lte| 22 HIES S0IX| &1 HI37|Ho| 0|58 HE £ =X| ofd M why7} BtCt
X0l 2 9BAD} Qs O|2R0| ZRIOIBES TR} + 50| + EALS]
=0|Ct,
decide if + M,2 ‘~0{2Z AMSICF2| 2|0|0|C]
2 YeS/NO ol _o_l }§°|'E“E' Ei._l‘ 3 "decide if + éJ 0.'1 = éool' f | I |0| I‘
4 ‘~OIX| OPX|'Q| EEO| HAFKO| Z=0{0|H FZA whetherdt 2
L 24T QULI? CH2YHX| 201 220l0llM YEtE B 20| 2H0IL? T}, ific MX| Or=ct
i CHRWR| e 22RI0IN B5tE 2 20| SHeIX| ot ¢n ST
UL|? 3 1 think, believe, suppose, imagine S2 2IEAIEE SHOZ
USHF, 7 ARIME RIZRLI? T B2, AZME 2 ol| 2t
7t AFRIME HIESH=X| OFHX|Z 2513, 2 ZHYOIRE2 TOIZAt + F0f + SAh,2| 0{2=0]C,
4 1 HHOR20|M= XS AL do[does/did]E ALKIGIT 20| Al
Quick Check p.69 H|S HtHSHT}
ZIHO|R 22 ro|2A} + X0 + SA},Q| O
1 Where do you think 2 will run 2 ZFHOIZ=2 TOk2AL + 01 + SALC| O1=0ICt
3 whether(~QIX| OHX|) HAPHO| 0242 LAEO| 2F Oj2f AlX|
1 SAtthink7} QI2APES SX0IZ FE 42 ARAIS 2% Yol 20t S MOF BiCt,
2 HEALI7F HAPES 0|2 42 0j24e] W82 0|2 AM|Z LIEHHTE 4 ~QIX| OfHX|'| 20| HAPHO| FO0{Lt MX|ALS| S| MO|H
Tt if7} 2719 HAIES 0|2 AL O|2H AIX| CHAI SIK| AIHIS 2L}, F& AL whetherB 2L} ifie MX| QH=L},
5 ife HARE(~QIX| OFHX|)O|LE =719 HAE(RS} ~0[2tH)S 012
Ct @A F&AL ife 2712 T&ALo|CH

GRAM MAR CH ECK p70 6 1 _7'<_01§ MO| ECF;AI-X-IO CEA xlzl.gl_H:I..

=2 T Tig
@ don’'t matter — doesn’t matter
2 NFYoIZ2S PHOREOR HITE AP XHo|RR0 ZEA

= dE=E=rens

do[does/did]S AR[SIC}. @ do — At

1 how old the person was at the time of death / iffwhether]
that person was male or female / how tall the dead

person was

1/

0z
o

o
gé
nx
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7 1 o2Ap} s ZHHOZR0|C 12 2|2AP} 0| M0l ZHYOIS 20| 022 TO|2AL + SALOICE

2 SAthink7} QRAIES SX0IZ Y 22, ARAE 25 90| 13 O2APH Ql= BAFES| 022 TOIZAL + F0] + SAL~.0IH.

Mrp 14 | am afraid that ~= ‘~0| QZI0|Ct, ~8t71e} Z4&0|Cr2| £=0|Ct,
3 iffwhether]2 AIXISH= HAFRIS SXOIA 2H0{2 MO £ 9 15 have no idea if ~= ‘~QIX| OtHX|E LX| 235ICF Q| E£0| LY,

ot 16 SAf taught= thatg XIT SX0I2 F3ICt 7}2X0] ito] LRSIX| 8
4 ~QIX| ORAX|'2| QI @Awm Z0{Lt MEIALS] SE0|Z A0| ot

HAAL whether@h 2L} ifle MX| QH=L}, 17 FO{E MOl BAFHS Hh FF S
A oo

18 YHRSS UHIARSOR HIPE Z2 NYIRRY XEN

do[does/did]E MX| QH=L},

REVIEW TEST 0.72 19 7IF02 M 2 Qli= Z32 THFA} O],
20 be sorry that ~2 ~0| QZ0|Ct' Q| S=0|C},
21 5A ZEOIA HAPHO| 0|2 M0|H JI5H0] itS 20
1that 2 if 3 that 4 youare 5 the fact that 22 think, believe, suppose, imagine 50| 2JZAIHS 202
6@ 7 that 8 when 9 if 2, Yes/No CHElS Q716h= 20| OIL|Z R QIZAIS 23 oo £2LCt

23 EUMM FAHHZ MOl that HAPEO| ST,
10 what you intend to do 24 0|Tf|-7_'}_9,1§0:gAP“°| ojae rg}|_'_AI|. + -’,LO‘I + EAF~0]C},

3

mo

11 iffwhether] there are differences between boys and 25 ZoHAl ~OIX| OFLIK|Z SQICHO £OZ WAYNS 0|I1s HMAA}
girls iffwhether]7} M&t5iCt,

12 who invented fire 13 what we want in life
14 | am really afraid that PRACTICE TEST 0.74
15 if she still loves me or not
16 taught it that — taught that
17 depend on — depends on

1@ 20

18 what do | believe — what | believe 3 Do you know when Renaissance started?

19 That's true — It's true
20 I'm sorry because — I'm sorry that

4 What do you believe should be done to stop bullying in
schools?

5 that 6 It 7 what 8 thefactthat 9 if

10 what time dinner is served

11 Whether we canstart 12 @ 13 @

14 about whether should kids wear

21 made clear that — made it clear that
22 Do you suppose how old — How old do you suppose
23 which everything here is — that everything here is

24 what are genetically modified organism(GMO) foods

— what genetically modified organism(GMO) foods are — about whether kids should wear

25 asked respondents that 15 are called — is called

16 how old is a skeleton — how old a skeleton is

17 think it that — think that

1 FAbthat0] 0|11= ML SA| 2X0{7t E 2= Y2H think that ~2 18 Do you guess how many kinds of whales
‘~2t1 MZISiCrete S0|Ct,

2 wonder if ‘~QIX| OfHX|E Z2335| 0§7|CH2| E£0|Ct,

3 the idea? SZAXE 0|11= XA} that0] ZRSICE

4 S|ZATL U= QAE RO R RL 02 "ZAL + 0 + SAF~,0]
Ct.

5 MX|AIQ| 2X0{Z MO|= thatH2 the fact that& 2 2L},

6 QIEAP} U= QREO| 7R R0|Ct
@ what time did he leave — what time he left

7 ZSH0Z MOl that HAE

8 2JOj4 ‘2| QI7H0| RE YU7| AZRHEXIE Q| 22 2ZATt U

— asked respondents ifflwhether]

— How many kinds of animals do you guess
19 ® 20 ©

1 think7 5HAICR Mol AL that B HIZ 2X0|Z 51X o2 72
H0{ itg 2Lt @ think strange that — think it strange that

2 HHOEEES UHYZRERE HlE 32 AHYEEL XA
do[does/did]Z2 MX| %=Lt @ what does he believe — what he
believes

3 QJRAT} U BAFHO| 02 T AL+ 0 + S ~0IC,

rr

ks

4 think, believe 2 EAIES SXN0Z F|& 42, ZAE 25 20
=201, sy
9 X OIXIS ZFHottt ol RO= KA TZE Mo, 5 theidea% SAXEE 0|11= that0| HEtsICt
10 QAL U QR R2 ZHHORE| 02 O|RAL + T + SAL~,0| 6 that TAPHO| X0{0|T 71201 ito] M3t Sxp0|ct
El--:- [o = e]I=1=Fo] ¥ Te]I=1=K=Ny = 7 be + St + thatd.o] HOICY.
11 2ASATF = Sk2 20l ZHERIRRE Miffwhether] + 01 + SALOICH 8 XA Despite2] SX0{Z that BAPEHO0| Q= ZS Despite the fact
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that ~O&2 #C}

9 EUY FO| TIE LYo M A=X| OHHXIE S2UCH el 2jojo|2=2
if7F &S5ICt

10 S|ZAZt U= BAEQ| 02 "2ZAL + 0 + SAF~,0|C},

11 S|ZAL Q= I-E—-E— | ZFIOI2 22 Miffwhether] + 0] + SALOIC

12 HHOYZES UHAZELR HIFE ER HHAZEY Z=3M
do[does/did ]% &I| QH=L} @ did we come — we came

13 ~QIX| O{LIX|'2) Q1 HAFHO| OjLt FXIALS] SHO{Z M2t FiAt
whether2t 22t @ if — whether

14 9|2Vt Q= o|2 20| ZHHo|2 R Miflwhether] + 30 + SAL,0|Ct,

15 SZAMO0| Y= EHOZ F0{7t The belief0|22 TS A} is called7t
SC

16 2ZAt A= BAES| 022 oAt + 0| + SALOITH
17 3P 2EE FHsh= E<2 thinks 7I5H0] gl0] thatES HIZ SX0f
2 FBICt

18 guess7} A ZAES SHOZ Y ER, AZAE 2 A0l 220

19 7FYOIRR0IME ZIHOIZ R ZEAL do[does/did]S MX| Y=L},
how do people think — how people think

20 (A) knows= QJZAFEI} thatEs 25 SHOZ FE = QUX|E, 2
why7} SEsiCE (B) Q2ET SIRF0| Aptels ojjol B9 X
however7t Hgfsitt. (C) 2y ~2IX| OFXI 5 717l HE 0|2
== QU= F&AE whetherOlLt,

rulru

S

Grammar 152_&&.indd 19 2015-11-05 2% 1:56340



CHAPTER 13 geux

1 1 210

A ZACHBARE HZHAL p.78
Rodin2 QIAIFo| stmto| X272 UM QUCH I ZZAIE SAA|
ZiCt.
Rodin2 ZZAE S{AIAZI Q0| SHte| RZI7HE U2{X QUCt
WA 7|A = HR|OICt X2 QMES B Bh=C}
WA 7|H= QMES B0 Bh= FR|0|Ct
B ZAiEAR| S/ p.78
AHHE0| QUCH IS2 Y7t H O] Yotks Ae S0E 5 UL
U7t A O] Ysks A S0E = U= AFES0| UL
24 Zlst 22 20|}, Al=0| £7] ZO0FEHTt
2ty Flst 242 AE0| £7| £O0Foh= 20ICt
07| 2= LIS QI-0ITt. 19| = HAYS o motc AHZTICE
0L 7|= AXNYS g mottt 27+ 77k LR QIo|Ct,
C Fo|g BACHHAL p.79
1 TX|AIRL EAHCHEA
L= 28 & e 205 01 QUL
DE SO 0|EE2 AIZRAE Aut 242 HXE BHTH
2 Foig Aol ¢l
I"'°’IF— XHE Fd5k= YAt HES A5k ASIXI0|CE
XS E X7 E 74oh= LMt #ES A6k ASfAS0ICt
BHE IOHA17P OFL|2t M{OIE {I5HM FATIE Sh= AR OFORE0{2t
=2,
FE20| Al= AHE2 F272t D SICH
Quick Check p.79
1 that 2 have
1 MATZEAHSO|L FZQI HA YA that[which]S 2Lt
2 HACHHAECQ| £AlS Hi= MEAF Those athletes7t £O{0|22 =
3t haveE 2Lt
GRAMMAR CHECK p.80
1 1 who 2 that 3 whom 4 which
2 1 whose 2 who E£ that
3 whose 4 which E= that
3 1 makeup 2 allows 3 are 4 has to

20
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1 Crude oil is known as black gold — Crude oil
that[which] is known as black gold &= Crude oil known
as black gold

2 a pen whose — a pen that[which]

3 someone who — someone whose

4 The jungle in that — The jungle in which

1 theory +/ (that[which]) the lecturer
2 rules +/ (that[which]) the universe
)[that]) we work

4 object +/ (that[which]) you can see

3 people +/ (who(m

10 2o 30

1 someone who[that] contributes something to society
2 the person who(m)[that] | admire the most

3 the TOEFL test that[which] you took

4 whose last name is Kim

1 HAATE ARRIOIL F2Q1 BAHSAF whoTt X
7HS3HR|2t who 7t o RtHABCY

2 MAATEAZ0[L SHARI HAHHAL thatO] Tt whichke 7t

SolX|2t thatO| & XtAAHLCY,

A

XMSt5ICt, that:

3 MATE ALZO| D MX[ALS] SHZQI HAHHAL whomO| TS
SiCt

4 H-AZE AFS0| HX|ALS] SAZAQ1 ZALHEAL whichZh &gt
SiCt.

1 M3MA peopled $=AI5H= job2| ARZIQ1 THLHHAL whose
2 M3AL7} someoneS $AIGH FOE MO|= ZHAHCHEA
who[that]7t 2o T, AlEfe| AL who7t O XtHAZLCE
3 M3A} planetS $Al5H= sizeQ| ARZ401 BAHHHAL whose
4 M3At the animalsE $=Alot1 people like to watch F2]

SX0{Ql BACBAL that[which]7t 2SIt H AISQ| AR
thatO| G XFHAECE

1 MaliAL events7t =
upO0| MatsiCt,

2 MAlAF technologyZt TH=0|22 A HEAEY= THHSAL
allows7} Hgtsict,

3 EAHBARES| £AS =
2= AL are7f QiCt

4 HAHAES| AIS Hh= 017t
A} has to7} 2Tt

0|22 HAUHIAENE 55SAt make

Z0{7} <4 The people0|E2& =

tt2 AnyoneO|2 2 HLE

1 2A0| 0491 Crude 0ilS $Al5H= HACNHAIES 0| =2
ZACHHAL that[which]0] HQSICE E= THEATL ZEtE 2
AFE known as black gold2 HiE & QICH ‘A 2oz ot
Tl R'2k= ot

2 AFS0| MEALO|T F2Q1 ZALHHAL that[which]o| ZIQSICE.

| T T —6— (T
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3 YAt someoneS =45t BAtloved one (Aldh= Arz)el
AQZOI A CHHAL whose7} DTt

ZACHHA} that2 HXIALRH 3H £ 4= SiCt whomt whichgt
7kssict.

SH2 TACPALS M2F 4 LD, M2t 20| 713 KetAz

»

5%

BAHBAPES =415 B,

@ appear — appears

2 ZAHBEA that2 MXIALRF &4 £ == giCt. whomit which 2k
7Fs5iCt @ with that — with whom

3 TEAL Q0| 2EC SAPE 2700|122 S 2Z0|Ct

® can spread — that[which] can spread

|

rr
>
IS
1S)
a
=
<
:

ZJ0|c.

ISHAL7} AZI0| T Z240|22 BACHZAF who[that]
%AP} AR0|Z ZXZ0]22 who(m)[that]o] 2L, =X
A BAHE YEfohs X0l 7H AAARCE
3 MsHAI} AF20| 1 2XZ{0[22 that[which]0] 2.
A YA d2f6H= 20| 7H RIAARCE

4 M3AfpeopleS 4415

N
rl'-l r>- rx

EERE

I HAL last name?| AQZQ

A B AL} MaAL

p.82

22|= MAol &1 Qlo JR0M= O Rz 7Hs8H =Helr,

L2|= ot A 7HSaH 20I= Mol &1 QU

X2 ZR0| oA 2ol 2okt I L7t SEE Yol RS 017
Of'dl 4= QUACH

U7t SEE Fotl RS 0|01 & AAT XSl B0 ThohA 2
afj 2ot}

AT SR p-82

. AZRO0IM U7t 2rE5HA| 2
AL EHAS QALSHEO2},
Lte| 04=440] 11 ' EHO{RICY,

S40] EH01M’E‘| e °'XI B

St 0|17t AL? HRIS2 THUMM g7 AE ST

EHXIS0| TSUM BF= AS E7I= St 01[7H AL?

L= 3 40| S5oltt. 1 dHe

L= UIZ7H 2 Z0IM 2SS SHZME 1 YYo| SISt

XSE A
158 4 UL,

& 2
ot A 2
[=

_'_FIF_"

EAIFALRE ZHAICHE A

EALQ} TMEIAL + BHAICHTAL,
Chate A0ICH ARFS2 IROIN 3] XIS S78ic,
sto

=2 XAE FA5k= YA0|Ct

fRIi= 32 B |2t HS0| &%

IQUE 0] WA= 7H SIS UL

= 810] ARl X|HO|Ct.

ne
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Quick Check

| T T —6— (T

JH=EU4HE HHO0IRE 2 .
HENS2 B2 ARS0| ’El YO = Z I ALZSH= oI,

ST LT

1

20

MSHALZ} reasonQ| BAHE A= whyO|C} &
Hi= F0{Ql reason TS ALis7F EHE
MEALZ} time2| A EAN= when =
which7} 7HsS35}Lt,

StCt.
FERIAL + EAHFALLL in

1

1

GRAMMAR

CHECK p.84

1 where 2 that 3 when 4 that

1 There are several reasons why setting realistic goals
are important.

2 The way the doctor manipulated my leg has helped my
arthritis so much.

1 at which 2 on which 3 for which 4 in which
1 which — when &= in which

2 in where — where £+ in which

3 where — that L= which

4 for that — why = for which

1 2ASA 2 2ZAL 3 2ZAt

L LN 5 ZARA 6 2ZAt

1d 20 30

1 The house where Beethoven was born
2 the day when | first rode the bike
3 a reason why he was angry with me

4 how you made this pizza

1 HAZE HAE LEHE=
TAEAL where

2 MHAZE HALO| L ZACHHARES| 0] K20 L=
AL that

3 MEAPLAIZES LiEH =
= 2HSEA when

4 HHAZE HA0| L A HEARES] =0 Xj2|0f A=
HAt that

HALO|Z 2EA}L in the area Al M=
=24 A
FHALO| 1

HALin the season CHAI M

2 A

1 d™lAf reasonsS AlShE HEAES 0|10
25|}

2 M3AL The wayS SAI5ks FZAES 0|11= A how7t
HQGIX|ZE, how= M3} the wayet Bl MX| @=L},

= EHRAL whyZt

0x

o
0

ol

]

nx
—\
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HAt shopt O{22|= MX|AH= atO|Ct, (at the shop)

AL day?t 0{22|= HX|AH= onO|Lt, (on the day)

HA} reasond}t 0{22|= MX|AH= forO|Lt, (for the reason)
AL a timed} 0{22]|= MX|AH= inO0|C}, (in the time)

B A ONR

MY} a timeO| T, 45K BB SAT ChA Mol 2
At when0| SESICH, XA+ EAUBALE 753t

2 M3§AL7} situation0| T, 4AIGHS SRANHO| HIALE [HAI MO|

T2 AL whereO| MBISICE HAIA + RAHBALE THSBIC,

MATH AT £AFHE HBALO Fo7} gl 2F0|22

77| TA|CHZA} thatO|Lt which7} X{3t51Ct,

4 MBAT} reason0|T HBARHY| HAT Tl

whyZ M74Lt for whichZE MOF ST}

MO EA AL

5 2ZAet Z2| BARAE SHAEX| K4=Ct

6 1 M3ALILthe year0|1l 0| ~Aloh=s SHEAPHS| SAIE Al M
Ol A LA} whenO| HEI5ICt, @ which — when
2 PARAL how= M3AL the wayet BHH MX| @4=L}. the way2t

ML howRE 220k "HX|AL + BHAICHHALE 7HSSICE
@ the way how — the way[how / the way in which]
3 M3liAI7} food storage tankO|1l 0|S £:Al5H= HRAFRO| 2
TSIEE 2A AL whereZt MESICt
@ that — where L= in which

%‘ I"— 4—f71|‘='A} whend} 74| 2L},
A= A SAL whyRt BHH| £20
MSHAF the way2t SHH| MX| 9H=C}. the wayBh

AW N PR
k=)
J0

ABAES| Mt
p.86
1 HEH 2Ya AHSH
ATQI0] 1018 712X IE a E#E |2 S410]C},
AIE OFMI HZ0 =S WE T TX|7F AL o] UCH
Smith WE2, AHQI0 101S 7I2XIAI=H, HIF S410]Ct
EtUX=, O1=32] 7 HX|QIC, 2 2{0f] UCE

2 ASHE
Edison2 Xt7| XtAlo| SIALE HEIM=M], = JAE Ae| UHE
ZEPO|2tT 2Lt

I ARzA2 201001 2Oft=E, 10 Jeff= G3ES| OFOI AT,

ol YA

3 9 2 MHE 71271 which
DanielS 7H2 ENEQ0|2 ZARSH=E|, 220] 1S =51 Dt=C
Mike= LH7t O Z2HEEZ 5t= A2 TAFA=M|, Lis OHE H
7|CHSHR] QARURACE.

ol
iy

22
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B YEAIEL| FEA RO M p.87

1 TR AUBA + beSAL W2t
32 OHXIE XX AAH 11 S HO0| ApHQ| H2lS HAHAUCL
YR M| 22 BRIS2 LIS EMAlE HHI:E = 7L

7|2 A8 7ttt O FRI= tHs| =Eet 0| 25

b

2 TR A + YRS

Ut HRAT EEHE AL AT 0| QIFS AAAZIC

Marie Curie= & 7H2| lLLHld S 445t £|= 0| AFFO0|ULCE
Quick Check p.87
1@ 20

1 MAATE HAS LIEHN= FA0|L, £AIGHE F8APH0| &Xist 25
0|22 EAHZAL whereO| H2t5ICt.

2 " LAUHAL + LHLSALL| HEAPHE HAHBAE M2f6tn 5
A -ingYOE HH0| HEBALE Y == QUCL
GRAMMAR CHECK p.88
1 1 which 2 where 3 who 4 when

2 1 the elevator
2 The elevator is often out of order
3 the first Harry Potter book
4 J.K. Rowling wrote a book

3 1 Paper made from rice
2 Anyone arriving after the start of the concert
3 a novel written by Ernest Hemingway

4 1 people +/ (who[that] are) waiting
2 men and women +/ (who[that] are) in the immigration
office
3 Star Wars, +/ (which was) directed by George Lucas
4 the Tonight show +/ (that[which] is) airing next Friday

5 1 Any student don’t wanting — Any student not wanting
= Any student who[that] dosen’t want
2 was named Vascos da Gama — named Vascos da
Gama L= who[that] was named Vascos da Gama
3 that surprised me a lot — which surprised me a lot
4 itis—is

6 1 @ that — which
2 @ leads — leading £ that[which] leads

3 @ which meaning — which means £ meaning
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7 1 which is secondhand 2 who wrote Les Miserables 7 1 AF20| MSHAIRl HQ AAX RHOZ £ A Ol MAHHAN=
3 | went to Tokyo / where 4 which made me angry whichO|LC},
2 AREHO| MAARl R ASH SHCZ £ & U= BAUNIAE
11 MATL FA0|T, HEAHO| F0|Z Mol AKT 8¥O| £ WhoO|EL,
A CHEAL whichZt Z{§t5ICt, 3 EAHRA wheres HA9| MAAIL QU= B ALBEH, HSH
2 MBATLHAO|T, HAGHE BEAPEO| AT Tl MOI ALK gHo= = 4.
29| ZAEAL whereZ} STt 4 % ZF HAHE MPAZ 2= BAHARE whichO|CH
3 MUATE AFHO|L, FEAES| FO0Z M| ALH SO 4
ZAHCHHAL whoZ} A EtSirt.
4 MHALILAIZIO| L, =A5kE HEAFEO| FARSE A MOl 2R

4 EACHHAL whatf 28 ZHAAL

At whenO| 3513,;6}[},

2 1 MBAH= elevator0|f, HALHHA} which?Z} 0|T1= H0| 0|2

4AJ54D UL}, A ZACHEAL what 0.90
2 MAL o BE HHE JI2)7|= 42, H5()E A0 BANY
At whichZ £L}, U7t 5 & 4= Q= S YR 0|2X| 02,
3 M3AH= the first Harry Potter bookO|H, A HHAL which Alg W7t 7h Hest A2 2| =0] OfL|2t 2] AFZO|LY,
7} 0|= H0| 0|2 #=A5k UL, AFRFES JE0| 21 HOfsH= 248 YLt
4 MaiAp} 9 2E MAIS J2)71s AR, HH()E AT A J1740] 110 OIYEQISO| ALZ MIA[Ol| CHH 44 ZH3HE Z40|Ct,
Ab which& #£2L},
3 1 beSAEOI BARAPI 9IS B9 FHEAGA shesa, D SAAL p-50
e 1 SE Ay
2 " HAHHAL + LHESALO| HBAPH2 BIA|CHHALS H2kst e
T EAIE -ing3O 2 HIT0| HRAIE Z0ICt, L= ZRIE alssh=s YEE 0 :rLEfE SOl =2 izttt
3 H&X 20| AL TZ=AWHIHTAL + beSAL + HO0M T=2 O] HiF0IlA L7} &5k= F10] |’ FZoli2t; HI&2 2 A7t OtLCH.
AHCHHAL + beSAL, M2k THs 7t x'|2}0f':'13f5 iz |' 2 0] %0}% VA Elne o E

Romeo= J0fI7| 22 20| LU= Juliets AE 74Ct.
4 TFZ HAUPAL + beSAL= FOl SFMEA, BAZAL SEATIE

USH HH2ket = AUCH FZAFHO| FBATLZ EGT 0T 2 SEEARM
5 1 TFZ BAUZAL + YUSALOIN ZAHYMS H25HD SN O M= OfCof 2lC=s SARNE,
£ -ingE@OR HITO HBAITR FOICt ARl ZL Mot + Cooperli= OIC|2 JITI2ks S HS + UAL.
~ing,2 2L}, OfR2| 38 &8s PF°‘01E L= 52 4X28 2e 4 AUt
2 3 2R F&AL 20| SAIZH27HOICE was namedllA| wasS HI7HOFP2| SAfet, OFZH =g 5§t
A2E510 named Vascos da GamaZt E2ALE MOl ZHL0|
Ch. 2AIHEAL who[that]7} 0| = FEAFRE 7HS5ILt. Quick Check p.91
3 o 2 A7 MRl B BA HAR= whichS 2Lt 1 what 2 wants
4 & YOl ALY FEAMTE ST HEZE EH| =
07} Seven Mile BeachO|Z 2 it0| AHK||%E|0{0F ST}, 1 ZACHHAF what2 MIALS ESoHH, ~oh= 2O 2 SHAMSITL
H3} O =] s 515 ¢ o] =S
6 1 DUACHEANthat 74X SHOE & 4 9Tt S e N b T it U K
2 5t 20| WAA 810 SAD} 27H0I92 20| HEEIK o= S AR RTE R R 2] i S
Lt 2&2| 2SAk= will be closed0|1l 40| leadsE A
that leads2 HIR7{Lt leading@ 2 HIT0| HEAITLR 2L,
3 meaning large melon0| 2t2| pepong $Alot= HEAO0| GRAMMAR CHECK p.92
Ct, whichZ ZQ5}HK| QLLCt SAPEZ MM which means2
HFTL0{0f BILCt, 1 1 that 2 what 3 what 4 that / what

2 1 What |l wantis
2 What Jane is going to buy is

3 1 whatever 2 whichever 3 Whoever

4 1 whoever 2 Whenever 3 however
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4 no matter where REVIEW TEST p.94
510 20 30 40 56 6 @

1@ 2 ® 3have 4 is b5 solves 6 who
7 wanting 8 what 9 which 10 However

6 1 who — whoever
2 anything what — what EE= anything that

= 11 Aesop was a Greek writer who wrote fables.
3 any place wherever — wherever = any place where

12 | live in an old house near the lake where birds fly

4 no error
down when spring comes.
7 1 what | want to ask you 2 Whatever you decide to do 13 several reasons why people immigrate to another
3 wherever he goes 4 However much she eats country
14 Whatever happens to him
1 1/4 M3AL something(anything)0| 222 A CHHA} thatO| 15 that is by far — which is by far
XS5
HEot 16 those who hearts pumped
2/3 MEA} Qo B2 MIALS oSt 2AILHEAL whatO| Xt}
o — those whose heart pumped

17 the way how your brain works
2 BACHHAL what2 MAIS ZletH, ‘~ok= WO =2 sHAMSiTt H th h th in which brai K
AFH0|D2 Z0j2 MO[B EFASALE AL} e way[how / the way in which] your brain works

18 a time which people start facing

51 wh?cztever “PAOIEXIS T2 anything thatilt 2. — a time when people start facing
2 whichever= ‘0t ~0|EX['2| £ 2 |0f] HA| 2 4= ULE
3 whoever= “=2HE'2 5iA51T, anyone who?t ZIT}. 196 200
A R R D T e e 21 when most children like best
2 Any time when = Whenever7} ZR3IC, — that[which] most children like best
3 Thowever + S2AH/EALO0|Z2 however much7} SiC} ‘OF2 22 to who — to whoever &= to anyone who
2| ~ SX|2t='9| S20|LCt, 23 that was President — who was President
4 no matter where= ‘O{C|2/0{C|0flA ~X|2tE"2] 2|O|0|Ct, 24 is more likely to seek — are more likely to seek
= AR wherever2 HFRO| = £ U0, 25 How angry — However angry == No matter how angry
5 2§ ZAEAL whenever, wherevers= MSHAIS TStsH, ‘0™
(any)'e| =2 211, any time when, any place whereQZ Ht 1 ZAHCHHA} that2 MX|AIRF 20| £ 4= SiCt. @ for that — for which
£ 2 UL}, why= —ever2 MX| H=Ct, L3t 25 BARANE ~ 2 'however + YBA/RALL| HEHZ SAZE FHO| YIS HIITIX| 2
UX[ZHE'2| o|O|2 MO|T, no matter when, no matter where St AUSE ZEBI ® no matter however — no matter how =
2 HIF20{ 2 £ QICH =3 A HBAF whoever, whateverE ‘O however
(any)'2| =8 ZE7L}, ~UX[HE'2| o|O|2 MOILY, 3 MWt tests S+BAO0|L HEAE| FO0{0|22 S4SAE 20,
) i ) 4 ASBAMHE A H= ZHO F0l= quality0| B2 HESAE 2L
6 1 JSAFECISAS U Q0 HBAVHUCRR SHBAMES 5 wat sygioinr whomeverts S0 St St
r.r__ 6 MMATL AIZO|T F0{ Xt2|0f MO|= EAHHAO|EZ they= A2t
2 M34A} anything0| Q222 what0| Ot thatg MAHL} of et
\ i:'yutzmg% BUOHAL whattS OF 21T N 7 8 2HO| HEAL 0| SAPHE T € 4 QICk ¥ wants wanting0|
M3HAL any placeZt Y2 EZ wherever7t Ot whereg M A /0§ Any studentS AAIBHCH TR TAAL + SALE SAl-ing2
Lt any placeE 210§ whereverE £2L}, =0l &Efo|Ct
4 No matter what2 ~2X|2t='9| 2O = Whatevert ZIC}, 8 AMBHAIZ HEHSt I CTHAIO|D 2 whatO| HEH5IC)
7 1 BAHHHAF what2 ‘~5h= 2O SHAISITE 9 TX|Abindh EHA AL when2 20| £ == QiCt
2 Whatever= ‘2910| ~&X|2HE’ Z=0]|C} 10 =& #ARAL howevers ‘OFF2| ~2HX|2tE'2] 2|0|0]|Ct,
3 wherever= ‘0{C|A ~5}E{2HE 9] Z=0|Ct 11 AUEXO| Aesopilt HEEC| F0{Ql HeZt X|Zot= 0| 2282 4
4 however + SAL/EAL = OFR2] ~EHX|2IE'2 SHAI5HH, Tno HAHHAL whoE ARZSICE
matter how + SAL/2AHE HHL0| £ 2= QILCt, 12 =9l an old house?t HEZQ| there7t X|&oh= 0| Z2E=Z

o]

ZARA whereS AHEEICE

13 MA} reasonsilt Aelch=s AR AR= whyO|C,

14 whatever happens= ‘22 20| LO{LIC{2HE 2| LE0|C,

15 HAUEAL that2 A& o2 & 4= giCt

16 F{0l| At hearts7t Y2B 2 AR HALHHEA whose?7t ER3S}ICY,
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17 ‘~5l= WS LEHE SO Z &= the way, how, the way in which

S0l ULt

18 ZE Il 252 A5 HEHY FQEE0| 25 EXGIEZ which=
SSIICL timeS MBALR S48 4 QU= BAIRA when0| HEfSICt

19 HZAIHO| 448 = M#A children0| F0{0|22 =4S4}
developeZt M&SICH

20 HAl houseE $Al5H= SIZXNIAM FRME0| 2F ZIH5I2Z which
£ BAEGIH F40| BARAR! whereZt MESICH,

21 M} dayZ 4-415H 2| SHOP7} K YODE X BANBAL

£ MOF St

22 MY} QB2 whoever = anyone who& 2Lt

23 A EA that2 AL 8O 2 & & it

24 2%9| =0{= The sick people0|22 2= A} are7| UL,

25 "however + FEAL/RALL| FEIE SATL FHO| HEE HEIA|7|X| 2

Sl Y2g AXSIC ~SK|EHE 2 SHA5HH, no matter howZE HEFL
=

A =
of £ 4 9ict,

l

o

PRACTICE TEST p.96

1 whose 2 that 3 whomever 4 wherever
5@ 6 @ 7 1.that2. where
8 the way how they can communicate — the way[how /
the way in which] they can communicate
9 anything what comes from an animal
— what[anything that] comes from an animal
10 What’s the reason for why
— What'’s the reason why[for which]
11 in some parts of the U.S. which
— in some parts of the U.S. where[in which]
12 a country whose shape looks like a boot
13 the way we make decisions
14 for people are in the last stages — for people who are
in the last stages L= for people in the last stages
15 that involves — which involves
16 the first step what — the fist step that
17 Who follows me — Whoever follows me
18 foods contain protein — foods that[which] contain
protein £+ foods containing protein

19 Q@ 20 ®

©

THAIZL SE0|T ARALZ MOI BAHHHA whose 7} HESICE

134AL7L reasonsO|X|2F IZEOIA givel| SX0{7t H2fE|0f QleE =2

X2 LA HEAZ L HESHCt

My ‘IS0| ASks A2 S7LES Q0j0|22 5§ BATHHA}
whomever7Z} X&lsiCt,

4 M3ALTL IO EE SFEUA AL wherever(~0{C| 0 A|LH 7 XESICE

5 MEAZ} AFE goodsO|1l FEAPES SHZQI HAHHAL QL0{0FSt
1, EAHY| £AIS = 0{Q1 goods 7t S4-HAO|CE,

MOOJoorxorx

Grammar 222_&&.indd 25

6 MALZ} AFE Hawaiio| 1 A& %01
Ol HawaiiZ} Tt4~HA0|C},
7 1. MEATEALS0|L HEAMH| 017t QDR FAUAIHAL that
O XgtotCt
2, MHATE HAE LEHNE HA0| HEAMEC
ZEXHot2 2 ZAH LA whereO| X E6iCt
8 the way2t hows= Z40| 2 2= QiC}.
9 what2 MALS ZStSH HACHYALO|L
10 M&iAL7} reason 0|1 XAst ZAHEAR= whyO|Ct, for which2&E 7Hs
St
11 MSATH HAS LEHHE A0 JBAMHS| 2 EHER0 25 &
THSIE 2 ZASRA whereZt MEtSICE "MX[AL + BAUBALE 7S5t
Ct.
12 M3t a country0| ARZ HACHHAL whose7t LR35 2X0|C},
13 M3} the way2t hows= SA|0f £ 4 QiC

= o
HEAHO| A4S

rir

o

2 2IYYR0| BE

R

14 for people F|9| SAt are= peopleg -1*-&!6}5 SEAFE| SAtoICt,
peoplegS MHAE 2= T4 LAHYAZL ST E= 122 ZAICY
HAL + beSALE MEFSHL in the last stages7t ¥ HAt peopleS

A8 2 9Lt

15 ZCHIA} that A4 o= 2 4 girt,

16 MBA} Q0T BAHSA} that] BESICY,

17 ZOHA '~5H= A2 =LEQ| oj0|0|2 2 ZE& ZAHLHEAL WhoeverZt

H3SiCt.
18 foods F[2| SAt contain2 foodsE $-AloH=E SZAFEQ| SAO|2Z,
ZZ T\ AL that{which]7t ZQ5ICt, = HEAIES HEAMAZ &

0f containing@ 2 H}FL0{0F ST,

19 ‘U|7} Hdts WO KRR MHAIS et ZAHHAL what0| HeoiCt
@ that — what

20 (A)EA YA what2 BALEE Yot HHIEH%"MOI‘:'E *13")\}
libraryZ 428t 4= girt, ( Ho|
where7t MatsiCt, (C) SE{0{7t toHAL|
& movtrt,
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CHAPTER 14 »x%

4 1 ~0[=2 2 ~0|7] W20
3 ~0|7| W=l 4 ~gof m2t

5 1 Some parents prefer boys, while others prefer girls.

p.100 2 Imports are increasing, whereas exports are decreasing.

QIS 0[M2 27t AL SEEM 2 [ LYSIC, 6
U7t ChS0 201 g i, H= 9] Mo Hi= HI g &= ULt
RIE7A QRIS FESE7| Tl ALHE F2| LAl 1042t

1 though — because[as]
2 you’'ll travel — you travel

3 As — Because

B giolo] HAIA p.100 4 although — while EE= whereas
1 solo| ®&A 7 1 Every time that | wash my car
2SO WEPA2M, Z717} FHAEI0{0Rt T 2 This is because he has
M7 BHOEZ M2 MEJF A S0|ot 3 Although[Though] it was cold

4 while[whereas] the new system is simple
2 this is because vs, this is why

=52 30| w2H =11 QUL 0| A2 K77 YKL AU7| WZO|Ct. 1 1 while ~at= =0t
SUBII}AASICE 70| X177} CIYRIT QU 0IR0ICY, 2 when ~ 3
3 as long as ~ 5h= 5t
C CHRO| BEAHA p.101 4 as soon as ~ ofXHILA}
OffH ARISS MOISICT YSIXIY, B NHS sl g2 wng o) 2 1 assoonasO| OIS SIS FUI L2 AMS JHICL
BojgiTt. 2 every time0| 0|11 SAPHO| UNO| Y=El= SXIS LiEHh=
N _ 5 == 5 = M
540 010IS0] S0 KT T £7| SISl HIRH0f, ST 010ISE 55 ) AIROISS S0 N AR .
Ofl o 57| SOSICT HAS0| 2 3 since7} Ol AlZl| Z230| AL FH0lE HHAR ARIZL
molrt

A 4 The next time0| 0]I1= A|ZtO] SAFES D2 AlX| CHAI SIXH A|
0| Q2P QB4 LU} YL 3 1 2w EAMALL though?t HBIICE
AIZ0| BLOLIT, L= B2 & K= 20| WAL £1019) Z:Af because} HEBILY,

L7t SRt 0[2H= 30| S5ICt. now that2 SXHL D|2f A&l 2IQ1S LEHHTE

HIZHL{2|7| o2 ofl, R2l= Toil QA0OF S AL, This is why ~= ‘~2t= 0|QCI'E sHAI5H why Sloj= ZniE
J7HTVE B= S0t L= 221 3t Mr

Jeffi= OFRIE E0F5H= 20N, L= 171 Cf E0kBICh

B WNPR

4 since= ~0|2{2'9| TO= AlZHES LEHLHALE ~0|7| [HZ20iS|
0|2 oIS LIEfHCt, as= ~8fofl M2Fo] SO= AlZtS LIEHHA

Quick Check p.101 Lt ~0|7| IfZ0i'2| 2|0|2 QIS LIEFHTY,
1 comes 2 whereas 5 while, wherease ‘~gt HHHO'Z S{AotH, FH0 Hetiizl= LY

&2 LIEfHC,
1 A[ZHe| BARE0f= Of2H AIX| oAl AXH AIRIS 2L,

2 whereast ~5t gIB10['| £O2, 3T HyITHO| LSS LIEHHCL, 6 1837 ME0e XOR &vlel YHAVHERSIH.

2 AZte] SAPES Dj2f AIF A BT AR 2Lt

3 ast X2 N27} 0|0] YT Y UAS T2 LbEHL
because: 0|2 x| R 0IRS LIEIHDE, why= 2

GRAMMAR CHECK p.102 S0j|= becauseE CHESHC}

4 whileZ} whereas= FHf HUIHEIE LSS LIEHHD], AR

2 - FlOl HES 20

r

o

Ct

|0
fir 1=

P |
=

1 1 while 2 when 3 aslong as 4 as soon as

2 1 came back 2 feel 3 has visited 4 goes 7 every time that ~gt [jofct
this is because ~ [20]|C}
although[though] ~I0j| = 75111

while[whereas] ~QI HtH

3 1 Though 2 because 3 Nowthat 4 why

S WODN PR

26
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TAte| B2 TIHEOXIX] E=CHH A% 71201 F AL
DI=0lM= HZH Y HIXEZE LS o2, 28s
L 3 2K S2457|2t T, Hi= L 2

ST EE YUY ER00 tHHIGHe, f21= EE7IE ERIR.

=
S yE2 I ZME 2S5t LFAZ|7| fIg =H FHof ot ¥
=

WrightM|= slingst= 2 ResHA H212 8l0| Hol71E FX

52

.

2 ZEaje| BAE

222 M MA= MZ TRIIEEXIE 1 LHBSS S25| 0lah
S F=2 S ATt
CohenMi= Li7t 3P4 7iCH 22 oS Y= 2 HO| UL
L= A 4 S Y2 BO| CO|0ES Aot & HTHEHRAT

[

3 BAT
AHITISS OfF RIS A ZOIX| U HOIKIS Mg 4+ =S BE
57} ZE0{X{0f SCt.

ah2 Q1710 A 4 912 HER BCIT YK UL,

=

Quick Check p.105
16 20

1 R0 SAPHOIS 012 AR CHAI SR AIRIS 2Tt
2 "s0 + HBAYRAL + that ~,2 LIS --3iA ~& HECFel o F
o BAPEE ofBC,

GRAMMAR @ CHECK p.106

1 1f 2 as long as 3 in case 4 unless

3 1 whether she can understand the joke or not
2 whether he apologizes or not

4 1 incase 2is 3 will you

5 1 so simple that any child can understand it
2 so that | could withdraw some money

Grammar D22_&&.indd 27

7

A WO N PR

such that — so that

no error

such an attractive eyes that
— such attractive eyes that

many people here that — so many people here that

unless you learn how to lose
in case we get lost

so long that | couldn’t find
such big feet that

if ~StCHH

as long as ~sh= 8t

in case ~2| A0 Cit|5t0{

unless ~otX| QH=CtH

only if %] ~5H= A0 2t

in the event that ~5H= Z<0]|

for fear that ~2 22{510{, ~= Z{Hst0{

W NERE »WOWNPR

whether ~ or not2 ‘~0|E O}L|E'9| 2O Z X710| 0{msl= ZAu}
= dCh= AS LEHHCE

in case ~2| ZA<0f| CiH|5H0{"2| SEO|LCY,
ZA9| HAPRS ]2 AIH| ChAl SXH ARIS 2L
only ifH0| 2% 0l = A2, FH| :0{2t SAPZL £X|ECE

R WNPR

so + HEA/EAL + that ~2 ‘LR --5iM ~&F FECHo| £
2, Znte| BAPES 0Tt that=of| SX0f it0| TRSICE.

2 Tso that S + may[can] ~.2 ‘~& = UTE'9| o|0|Z 2Xo| &
APRE O|ECt

1 "so that~,2 ~5}7| 9Iot0{'2| SEO 2 EXS LIEHHLY,

2 no error

3 Tsuch + (a[an]) + & + H + that ~= ‘0§ ---5HA ~SICHOFR
3 ~& HELFO| E02 HWE LIERACE T AP} 24:0]
M alan]ls MX| §h=Ct

4 "so + many/much/few/little + A} + that, ‘0§ HOtA/X
OjA ~& HECHo| o|O|2 MOICt

1 unless ~&}X| QH=C}H

2 in case ~ot= ZR0| CHH|GL0

3 so + HEAY/RAL + that ~,2 LT --5HM ~
2, Znto| BAPEE 0|1t

4 AR} & MOl HEAH= Tsuch ~ that 2 L =4 HALO|H

alan]g MX| ok=

0%

CCFol £O

¥R

A BEAREHR|AL p.108

LHZH QIE{SI0]| H&oh= SO0, & 4 Gl= HERIS 2F 7 2.
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OfZ4Me FatolEt STt
i=)
2

LY HIHS HDLE B

p.109

1 BARELBAE

2= SHH0| SEHE W 347t AAHO = SYE

SRS TS| M| Shi0] ZEret HQIX| Yet5| 6IE5HX| ZetLt
LHY HOH, 2= +3F0l Z 7{C.

LY HEX| O X7 2 AL,

2 BAE YEAME
L7t XS S W, Lhz IZH WA 22 528 X020 MK
DIQALY.
2|7t XMZ THAE T 0| LY QIMoM 7HY 53t 2
L7t CIO|OF2 ERIXIE RIUE IR0 DS CHAl SUH 20| EFSUC
=

L= S0 LH7t THO[OL=ZERIXI S RIUE H

0

Quick Check

1 in case

p.109

2 in spite of

1 0| + SALQI HO| 2 HMAALS MLt in cases HAA0|D, HX|
A= in case of 0|C},

2 AL A0ll= HXIAE
spite ofO0|C},

20t althoughs ™&EA0|1, MX|AH= in

GRAMMAR @ CHECK p.110

1 1 while 2 During 3 By the time 4 by

2 1 because 2 dueto 3 in spite of 4 Though

3 1 ~5t= 20|
~QIX| OfLiX]

2 ofCiolA
4 Dio} ~3iCtDH

4 1 thanks to — thanks to the fact that BE= becuase[as]
2 Though — In spite of[Despite]
3 because of that
— because of the fact that EE= becuase[as]

4 while — for

5 1 when he was only 21 / EAE
2 when the Korean War started and ended / HAE
3 when my grandfather passed away / SZAME
4 if he could pass the interview / FAPE

5 If you rented an apartment for $1,000 a month /
2

283
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6 10 20 30

7 1 thanks to your help
2 Despite being extremely sick
3 Where | am from
4 where | am from

1 E0f] Ho| Y= ML while

2 E[0f YA} U2 DR MX|AF During

3 0]l Mo| Yoo F&AL By the time
4 Fof| AL QOB 2 MX|AL by
1
2
3
4

fIJIO

0|I1= H&A because
Al due to
Abin spite of
HS 0|11= M&ALthough

2 o rio
P e re
1o 1o 1o
L U Ui
> oA >
ﬂﬁmﬂ

3 where2 T4 ~5H RO E Q|2 OCIOATE Mol if=
~QIX| OHLARI EE= ‘BIOf ~BITHEY 9| TR MOICY,

4 1 thanks to F0| SX0Z M0|= HAMEHO| 2= AL thanks to

the fact that ~&E2 #LC} F= F&AL because[as]7t Hetst
Ct.

2 Though F{0fl= 0| 2t0f STt [M2tA in spite ofLt despiteZ}
kS

3 because of F0]| FH0Z M0|= BAPHO| 2= ZL because
of the fact that ~&2 2L} L= because[as]Zt XglS6ICt

4 7|zte] Zolol| ZFS & Al7te| MX|Ak= forO|Ct while2 %
ALO|Ct,

5 1/2/3 when2 A[Zt2| F&AL (~& ), OJ2AL (

HARAZE MOICE 2ARAR= SHAME[X] §4=C

4/5 if7} ‘~QIX| OpX|'2h= —IUIE MO|H HAR,
0|2 MO|H X719| ZAPRS 0|BL},

6 1 o YAt teo 2 ML EL @ In spite — In spite of
2 when0| 0|T1= AlZe] RAREZ D2 AlH| Chil 24XH AHIE
Ct. @ will arrive — arrives
3 0 + HIAL/HAL + that ~,2 Znto| HAMES LIEHACE
@ very valuable — so valuable

QUH[)Z 0|7LL,
f.

‘Trof ~2tE'9| 9f

thank to ~ SHEH0|

despite ~A0 = 7ot

where7t ZHEAIZ M| AL
pile)
oT

HQ ‘~al= Rof'2t= 0|2 ZHzict
where7} Q|2AIZ M0|=

OICIA/0{E|2'2] 20| 7L,

B WON R
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REVIEW TEST p.112
1 because 2 though 3 Evenif 4 thanks to

5 lestthat 6 @ 7 because of 8 because

9 Despite 10 Though

11 while[whereas] Korea doesn’t have many

12 incaseitwascoldandrainy 13 @ 14 @

15 ® 16 @
17 only if Western nations will agree

— only if Western nations agree
18 when you host — when you will host
19 in case emergency — in case of emergency
20 so a beautiful piano — such a beautiful piano
21 they will have repaired — they have repaired
22 unless you don't cite

— Unless you cite &= if you don't cite
23 in spite of — though[although / even though]
24 though — whereas[while]
25 such cool that — so cool that

1 This is because F0ll= 2212 LiEtL}= &O0| 2Lt This is why Foj|
= ZuE 20t

SEED FHO| JEtEE HEO|I22 though7t XEtSIT
SEEL FHO| U= HEOIEZ even if7h HESITE

SAO| LHO0| FHE2| LHE0| TSt 210|222 thanks toZt MgSict.

est that + S + should, ‘~&}X| Y= &

in the event that ~z ‘~&t Z<20|| CHH|SI0'2] L2 X719 RAHS

O|BCt R2| EAPHOM= 0|2 AIK| CHAI $X§ AMIE 2204,

7 O89S UEH= #HX|AL= because ofO|Ct,

8 O0|RE LIEHH RAFES 0|= &A= becauseO|Ct,

9 MHEE LIEHHE= MX|AL= despiteO|Lt.

10 [HXO| HAPEE 0|IL= H&AH= thoughOlCt,

11 while[whereas]= ‘BHHE, HHHO|'Q| SEO = AMHHE| HHHE LIEFHACE

12 in case= ~2| A0 CHH[BHAT'S] S£8 ZH= TBALOICE,

13 ZETSAL sinces AlZH~0[2H2)2t Ol (~MHE0M)Q| 20| 7HICt @
9| since= 0|RE LEHNL, LIHX|= AIZHS 2J0|StCt,

14 lest (that) ~2 ~5tX| 27| 2/5t0'2| L0 2 thatH0|| 2HE MX| U=
L}. @ should not — should

15 S0l FAL his disabilities7t U2 2 LHXE LIEILHE MX|AZH ZL5}
C}. @ Even though — despite, in spite of

16 EuA ~517| IshAel SHo| HAFH0| ER3}Tt @ such that — so
that

17 Z219| RAFE0| M= SIXH AIM|ZH 021 AIMIE CHAISHTY,

18 when0| 0|I1= HAPEO|M= Of2f AIK| CHA X AIHIE 2 X| =Lt

19 emergency BAF 20| A XX|AL in case of 7L R SICE,

20 TALR} EHH MOl HEALO| AR Tsuch + (alan]) + & + & + that,2 &
| HAPHS 20} ‘TR --5iA ~SICHIHR -5HA ~& FECH'E shA

(=3

2t EAPHO|M = D2H2AE AIH| CHA SIXHASE AMIS 20

o 0 h WN

> o

21
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22 unless= ‘~6X| Y=CtH | o2

23 in spite of F[0f] H0| 2X| 2SIt
QI

24 Z&HI} 0| AHIE)= HIHE LIELHDZ2 whereas[while]0] X35}
Ct.

25 ZOHA {2 ... GHA ~St HE'O| E£O =2 5o - that ~,0] ZSICt, so &
Ol YSAILE 2A7L 2Lt

FE SH MX| o=t

=y

AEE 0|1= THZEO| MEAPH E

I o

E

PRACTICE TEST

p.114

1® 2 ®@® 3 Unless
4 Though[Although / Even though]
8 such

5 As soon as
6 incase 7 have finished 9 HEAE
10 TAE 11 2AE
12 The next time that you come
13 so many mistakes that | failed
14 Christmas will arrive — Christmas arrives
15 because of — because 16 if —in case
17 will be built — is built
18 such a generous contributions

— such generous contributions

19 ® 20 &

@ ~5t7| LUshA el ZX2| #AFEE "so that ~,0|Ct,

@ ~0|E OtLIE'Q] = FAPH2 whether ~ or notS £2LCt,

unless= ‘~oHX| Y=L Q| 22 7Kz FSALO0|CH

=T ELFO| JEXO| LIRS LIEHHT QOB 2 thoughlalthough /

even though]7} XgtsiCt,

as soon as= ‘~oIXHOLAY, as long as= ~oh= $FQ| 2|0]0|C,

in case= ~2| A0 CHH|5HY’

AlZte] EAFHM = D2H2tE AIK| CHAl SXitE AIRIE 20,

BAIRL A A01 &A= "such ~ that Q2 ZiO| 2AMHS 2Lt

HlALa timeS Al5h= JFEAFHOICE

10 S|ZAP7t 0]I1= 0| SAt wonder?] =X0{0|2 2 HAPHO|LY,

11 Z£HEAwhenO| 0]11= AlZHS L= SAPEO|C,

12 the next time (that)2 ‘C+20] ~&t Q| S=0|Ct,

13 "so - that ~,2 47 oM ~& "LV Xo= HIE LIEHHL} so
Floll= S8ALE 2AE 2L

14 A[Zke] RAPHOIM= Ol ALK CHA! SIXH AIRIE 20,

15 0|RE LIEH= BAMES 0|1= &A= becauseO|Ct,

16 ‘~2| Z<0i| CiH|501'9| S£2] H& A= in caseO|LCt,

17 If7} 0| 1= Q| 2APHO| M= D2 AJK| CHAl S ARIS 220

18 ARl &7 MO #EAL= "such ~ that ;S 2L} 54 HALO|H alan]g
MX| 4=Ct,

19 (A) 2UA ‘DtoF ~SHCHH'O| X710 &AL HEl6ICH (B) S4E M FH
O HHHEl= 2|0|0|2 &2 T2 LA XESICt

20 (A) AlZte] SAPHOAE D2 AIK| CHAI S4XH KIS 2L, (B) THRIAL

in case of F{0ll= YAZH 2L, (C) ‘0f3lE 0 ~' o o|0J0|2 2 AR

when traveling0| Xgt5iCt.

B WNPR

© 000N O,
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CHAPTER 15 4

A 718 1A p.118
BloNOl| LIl 1137¢0] KIREE AlZHa} B £0| QICHH, L= A 0f3
g 77t

Trofof K10 A7} QICIE, WAL ENE 4 QIS 7AC,
U7} Li2te, Lt 29 18 7

=

B 7tdY a7tz p.118
9] 7p40] FRIX| YTV, 12| MR ARIOE BOIKIX| 2AUS
7t
Mike | REZZ0| AIAIZ0 SRACIEIN, 1= 228 H#7|S 2 4 U
2 74t

C =g714d p.19

7k Lte| SUE MOSAHEH, XI5 OFF ZH|7H 3RS 71Ch.
LH7H FXf2HH, OfF| L= HIRE MS 7L,

D 2dd if 0.119
U7t 2R L BN KILEH, AjZH0] HFFC
W7t 2| L AN X2 TOfTH AIZHO| HHRICE

FU7H S L0 7HEOH, OH2 S 210 0

Quick Check p.119
1@ 2@

1 7P TIAE iFE0| SAt| TIASAL ZEH0| 'would[could] + At
28,2 2rt

ColE ™

2 (IpHofl) ~34CHH, (XIZ) --& BIE'e| SO 2 SHI7PYE0|C
GRAMMAR e CHECK 0120
1 1 met 2 were

3 could[would/might] have 4 would[might] be

2 1 would have understood 2 hadn’t read
3 couldn’t have won

3 1 understood the words / could enjoy opera
2 had caught the earlier train / would[could/might] have
gotten there on time

4 1 I'll spend — | would spend
2 If you can have — If you could have

30

3 If Cleopatra’s nose were
— If Cleopatra’s nose had been

1 had won / would[could/might] be
2 hadn't finished / couldn’t go to
3 were / would[could/might] have finished

1 @ have — had
2 @ conquer — have conquered

1 If / drove / would be

2 would have happened / hadn’t fastened
3 hadn’t missed / could be

4 turns / boils

THEE T S AR BICHElS ABI0ILE 72| THSA0| Blutst
AUS JFESICE MIf + 3=0{ + 247 SAL 3=0{ + would[could/might]
+ SARS OF LIEFHLCY,

7MY DpetE = P AR} BITHE = AEkS TPESIT TIf + 301
+ I}AHtE SAL F0{ + would[could/might] + have p.p..2 Lt
EfLHCY,

-'0

o

S AMalQ] Hith= TP TAE 2ot

WA AHAQ| Hith= 7P AR R A0

SITH AFAOY CHS THSA S 7HE0|D2 718 T2 BSEICt
718 39| AL ifMO| can2 could 2 2Lt

7| AFAIQ| HITHE 7pA TpAHAZ 2 HSISICE

W NE NR

1/2 3t7{0f| CHEt 7HH0| ExHoll FEkS 0|X|l= SE7PYE0ICE MIf +
Z0] + A4 SAE F0{ + would[could/might] + SAIS,
2 20}

3 SxHofl CHEt 7FY0| ZHA0| FEte Olxl= ER7PSZO0ICE MIf +
ZF0 + 017 SAL F0{ + would[could/might] + have p.p..2
LIEHALCY,

7PEE s i A SAE 2L
AAAR HICHOL 7 At 2tz 0Tt

BHXH AtAle) HIThE JFRSHs 7 2
T AP HHTHE THShs TPE TR
474 ARO Thet 70| SO S DIXlE ZETIR

UM BSO|LE ABHH! T2kE LELE= X1 ife

1
2
1
2
3
4

og

Ef

A ife] 4zt p.122

L7} L19] QUAIOIRIE, LK A48 QIR MRS AL,
U7 T 250 200 SYCIRR, A7} LIX| 919k AL

PN
2tof =2 LA TEHE 51, 0|52 2021 HAIX|E otz

W Grammar 222_&&.indd 30 $
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B if }_?_Jél_o_l Aouaﬂt p.122 3 Without[But for] death
0 22 dEo sRUEMH L= 7|=517| AIERES 70 6 @
QroF L7t 1 22 A0l =UEH2MH, L= 7|=517| AZEEE 7Lt

LIS {9} M2 0| 60| 242 EIX|EH E7240] ZiziCt 7 1 If it had not been for your help

o, ST

|
erofoll 217(0fl Z2IX| UUTHRL Li= L2t HISBIO 20| 24 L, 2 Provided he passes the test

M=
3 What if you had
C7/MH E4L 2 p.123 4 high time that you did

1 Ifit were not for ~ / If it had not been for ~
EfFO| QUCHH, X|7H= W M & 7t YAS 71Tt
Ljo] =20| UACHH, L= 11 LS SHK| RJS 7iCh

-

TPS-OIA] IfS HW25HH F012F SAHER2 ZSANE AR

2 1 3 AS BHHE JPgsh= 7P HA~E if ZHAMM= ot
A= SAS 20
2 Suppose / Provided / What if 2 otherwisec| 92| 2EE A1 AHHES RITHZ 7HSoh= if 2243
_ . E HHRO| £ == QUCt
TIRO| UoHCH D 7h-aHH, 2ol & AU HHg
UFE VHANAZELH L= 1 ZUS0 S25HAS 7Lt 3
Z{0

X
- o
Hi7H R0 Z5iM B 37HX| SRS MESE 2= QUCHH?

ol
=2
o
B
o
N
T
-~

suppose[supposing] (that) ~2t11 7p&5HH

providing[provided] (that) ~&f ZA<0|

What if ~? ‘~2tH o{=7}7'0| =

3 It's (high) time + 0| + 7P 2tA ft's (high) time + 2201 + 7H&% Tk, ‘(0]0]) ~3H0F & mjo|Ck
U= o]0] FXI2|0f SA0{0F 2 A[ZHO|CH LHY U™ UO{LIOF & ALY, o] =o|c},

0] === 0]0] 2HE|ARAC{OF E O[Tt

A WN PR

4 1 ol BBt LSS TGIDR ThEY S ot
2 ifS M ZP YUSA YO EXI= Did + FOf + SAY

Quick Check p.123 ~,2 2L}
1 Were | 2 were not 3 ~7} QIUC{2tE’0|2H= E$H2 but for{without]O|Ct,
4 Tp7{0f Ch3H LIS J7MYSIE R if it had not been for ~7 &gt
1 7Pge 2R0IN ifS M2kl F0it SAE EXISHTL it

2 ZHo| A|H|7 would be0|22 714 17| 2XH0|C}, =45
= < ° 5 1 Z0| 7}H% 347{0|DE if it were not for2 EHBHY,

2 FH0| 7}-H 0t 2tZ 0|2 if it had not been forS £LC},
3 if it were not for = if it had not been fore= without[but
GRAMMAR ® CHECK p.124 for]et ZHTt, ‘~7t QICHE'Q| S0\t
1 1 Were Mr. Brown here 6 If7} M2FE TP AHAZOICH @ Have he bus arrived on

2 Had they told me the concert was today it = Rl e 2 e an e

3 Should you find an electronic dictionary 7 1 FEHOIUEOZ Hop 7P MAZ if it had not been for ~
£ 20t
2 1 |had heard it ring 2 provided[providing] (that)2 ‘~&t ZL0'2| =02 71w
2 | hadn't stepped on the brakes S T30|Ct ZZAE0f| 0|2 AIX| CHA S A|RIE £20F
3 "What if ~? ;= ~2tH 0{E7}17'2| ££0|Ct.
3 1 22 ZF7EHE oS Myttt 7PYsiEH 4 TIt's (high) time + =01 + 7F-8 2t74 = ‘(0]0]) ~3H0F & mHo|
2 U7t 2|1 HE e ER0 Cre| Z£o|ct,
3 oA =t
4 U7t A|ZH0{0F & AjZHOICH

4 1 | would have asked — | would ask

N

Knew | Carol’s e-mail address
— Did | know Carol’s e-mail address A wish 7}4H p.126
But your advice — But for[Without] your advice

w

1 7PEd 7%t a2
L= L ZROIA & O XHUZ0] Qo S0} (T2, Lis Lt ARo)
A RpAZo] eict)
Marki= 1 S0XE AKX 2UUZ HIZCE (T2L D= 24S M)

S

If | were not for — If it had not been for

5 1 If it were not for the computer

N

If it had not been for the teacher’s support
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2 wish 71O CloFst mol 6 1 @ knows — knew 2 Q start — started
L= L £0 ZEHE A 202 WA|E & YO S|, 0{2{0| o 3 © do — had done
i,
512 Z H|7} L2|1 QU01. H|7 Y S0 7 1 We wish we had attended the meeting

2 | wish | could help

B asif / as though 7148} 21 p.126 3 as if he had seen a ghost
4 Jane stop drinking soda

1 asif{though] + 7}

4= ZOtX|7t 010] Q1 Z4xZ 25t 1 EXH ARAIDECHZ AOES wish S]9] thatHoj| Tk SAIS M1, 3t
= FYSHHIRES WOl THAE M ZSHX|T 1ZX| QAUCE O AMAID} CH2 AQHO|L} Q2 wish F[Q] thato| THYAZ SA
£ 2Lt

2 asif[though] + ZidH

22 7= = 8y H|7} Wo| & A 2}, 2 wish 7P 3ot 71 DA RtE 7t QUCE
Paulo] Z#24 =1t HEIO|S O Ot = FHAY0 7h= A 2ot 3 as iflas though] 7F4#S ‘OFX| ~Q1 ZiX{2'| =02 SiXH ApAlmt
HICHOIH 7HER kA, O AR HITHO|H 7HE ' AH~AEE 2L
FIHEA ] i
C 7rdsAt P27 4 z3 meot 27 B3 59| SA EE HBAF F| that=o) HES
O] EAMEIS ML} HZA| O r EAIRIE S A&
1 71| M9 2:._ SAHHES 20t F=A Ho{of|lM= "should + SAHEAE.S &
1 FA, 3= §ES0] Ax|t M2|E 7H20F SHH D FERACE -
AEEe 25 A2 B0l D27} HQl MEHS W] opof sictn x5 InterestingS JFISALS A= SZAHOILICL @ be —are
. 6 1 as iflas though] 7FHS ‘x| ~01 ZX{2I'2| O[Tt SK) A}

AndersonM|= HIZICHEO0lA S2440] CHA| O] 0{40F SHCt

Fo
%
(=l

At BHHE 7PgotH 7R 3t AR 20
2 BI AMAlD} CHE ABES wish Q| thatRol| I}7] SALS 20t
3 insist 2| SAtS| FX0{2l thatHe| LIE0| AFLES i=Z6HH
I SAIE MX| 9H=Ct FH| LIZELCH 2712 AMMS Sigota

2 W= AHIE 20

2 53 -We-27 52
DEIY=S HEME 7|5ks 0] EQ5tT.
JIUE= W7H AR HIM 7HEE ALX| ZOFOF SHTEL QL.
17t STEI0{MOF BHhE Mok W2 Mo ST
7 1 IpA AADECHEE AY2 wish FQ] that=oj| 172t SAE 2
ch

Quick Check p-127 2 B AT} CIE A2 wish Fi9] that ol 27SAIS ALk
1 hadn’t overheard 2 see 3 as iffas though] 7PY#2 ‘OIX| ~QI ZAXE'C| S22 IHA A

AT} HITIOIA 715E YIRS 2ot
o | = A0k o7t qEH i £|o
b RIS A IR S0 SIS IS ARSI, vish 74 4 £, Hgh, 27, B 50| SA E= ¥} 519 thatol 7+
WL sl i SAQI SARISS Sr.
2 52, MY, 27, ¥E 59 SA £ HBA Hol thataol YA

REVIEW TEST p.130

GRAMMAR @ CHECK p.128 |

1 would make 2 would have awarded 3 would be
1 1 lived 2 had been 3 could 4 wouldn’t 4 had 5be 6 @ 7 walked
2 1 had 2 had seen 3 hadn’t sat 4 would stop 8 wouldn't{might not] have happened
9 wouldn’timight not] have = 10 could speak
3 1 asiffas though] | were their son 11 hadn't met 12 If our situations were reversed
2 as iffas though] she didn’t know me 13 If it were not for difficulties of life 14 @
3 as iflas though] he had loved me. 15 Should my boss call me
) ) 16 | wish he were a little taller
4 1 (should) sign 2 (should) submit
. 17 as if a huge stone was lifted
3 (should) not swim 4 (should) not accept
— as if as huge stone had been lifted
5 ® 18 If had | thought — Had | thought EE= If | had thought

32
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19 should take place — had taken place 20 no error
21 couldn’t go — couldn’t have gone

22 [f | liked — If | had liked

23 If it were not for — If it had not been for

24 my parents chose — my parents had chosen

25 it’s high time you start — it’s high time you started

1 7Py oAl FEOME "ESA] IAHY + SAHEY.S 20

2 1Y AR FHOIM= "ESAIY] IAHY + have p.p.,S 2L
3 ESEIEHRRE IO ARMO| S0 FEE OIXl= ERE Bich= &
 FE2 71EY 12 BEHst
4 suppose[supposing] (that) ~2t11 7PslE'e| Lo #xfo| 7HsH
2 AMSIS LIEHNT QIO T2 PN 02 BSSIT)
5 JIMSAS SAIRSS M EH5H BH0CH JFHSAE oM 9F
2 UESH= thatZ=oj| 2Lt
6 Oj2Hol| Lo U] AUS wish F2| thatH0|l "5=0{ + would + SAH
2 £L}. @ will come — would come

1THo] 7K W2 MBS LIEKNT 002 TR 172 BHBIC,
7 AT} BRI MAS TS0 TP TR E 2O,

10

9 ESEIIEYSE 172 AMHO| EXo FEE DIXl= FRE Eisl= 4
RE
=

[
gl 4o ror &gk o2 2 por

>
=
>~

42 7he A2 BRI,
o] BiTHEl= A2 FhEY TS L,

=
11 as iffas though] 7FE#L ‘OHX| ~Q1 AX{Z'Q L0 2 17 ApAlD} HiTH
=

XY
o

12 NIf +3201 + were ~0f| A ifS 2SI 02t SAE EXIBICE

13 If it were not for ~= (X|Z) ~0| QICHEH'Q| S£0|Ct, without = but
foret o|0|7} ZCt,

14 if= "2F ~BITHHO| ALY, ~QIX] OFHX['Q] 2j0j= MQICt @9 ifi= ~¢l
X OH-AX['2] 2jojo]ct.

16 SN AMAO| THE A2 wish FOH| 71 THHE 204

17 as if[as though] 7P ‘Ox| ~Q ZXZ'Q| 202 17 ApAI D} HETH
O|H 7P AHAZE 20,

18 If | had thoughtOflA] if2 AM2F51H Had | thought2 £LC} E& if |
had though2 MO} $tCt,

19 HHHOI AFMS AESHH 7MESAIE MX| =Lt

20 no error

21-23 U At EIHO| 71 S She Z 7P WAJ/EE LIEHACE

24 0 Aot BHHE= A™2 T wish + 71 DAt 2 LIEHHTE

25 "t's (high) time + 0] + 7P 147 = 00| 5}X0{0F & U0|X|2k

x3 23188 UARCL

PRACTICE TEST

p.132
12 20
3 had gone out / wouldn’t[couldn’t/might not] have
missed
4 would[could/might] be / hadn’t given up 5 would
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6 mix 7 hadn’t happened 8 not drive

9 was made 10 where would you live

11 you were important to someone

12 had been / could[would/might] have visited
13 could go / would[might] go

14 if Germany won — if Germany had won

15 would | have wanted — would | want to

16 wouldn’t have been — wouldn’t be

17 as if he has been — as if he had been

18 he be treated — he had been treated

196 20 0

1 FHO N7 7P BtAHRAZO0|ER ifHO| AR YXINFH ZLC
@ didn’t miss — hadn’'t missed

2 if it had not been fors ‘~7} $iQAEHZHH Q| E=0|C},
@ had not been — had not been for

H
0 rot
o
N
0z
i3
|0
U
_l-'__l
N
10
>
nz
k=]
el
=]
=2
208
IE o0 0
mI

6 T ific ULHO! HSOILE UNOI T2iS LIEIHCE ifH2t FHo|
DS BT AIRIE 2L,

BIPEOR Tl ARO| A0 S DXl

IFH2 JhY ARIEE, FUS IR IR BB,

8 JIYSAIS SAEES MS SE BRI TFESAE 241 9iF

12 231 that™ofl 2201, 22| LHBOIR ot + SAHEE,S #0

9 suggest SARRIE FAT ATES LRGH= LIS0| Ofil Ul AL
Ho|P TPYSAIS MK OH=LL,

10 STt OJ2Hol 72 Tkl T Bt

11 "wish + 7HSle] T = SRS ARLTL i)

40 rhot

ot

rr
k>
g
o
~
m
=
n

12 7188 W7t E P AMD BTl = JEE 7Yttt

13 7188 A= oI At} BiThElE s 7RIt

14 718 W7t E 0P AR BTl = JEE TR

15 71 M= S AR} BITHElE JES 7SI

16 SE7PEY2R 7{Q| A0l Sxfofl F&S DIXl= E2 ifE2 718Y

WHYEE, FE2 7P 1A= 29
17 as if 7P4H2 DR ~Ql AXME'Q S22, 17 Abddi} HICHO|H 7HY
LAAZE 20}

ro
]

18 UHIXQI AMMS AE5HH THESAE AX| =t FEQ| ANt 1A
o US FHSIEZ WHYAT AHIE 20

19 J7PFgY A EE I AL B R = AEE 71ESHT @ would be
— would have been

20 (A) HEAZ MO HEANE 59| 2|0|7} ULt (B) M3AF computer
networksZ Zt= ZH AL whereO| E2AEE 0|2Lt, (C) as if 71
H2 OIR| ~Q WM L=, SIX ARt BHIHO|H TPYH HAHE &

tt.
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CHAPTER 16 7st 22 22
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NIT SR ESeTE=PN

A BRZAE p.136
1 EAlR| LE

UBKISS J17HS DJ2H0l 20 XIS 0| HOIX|7|S M st

Lb= of Zi9t 7510] M2 US4 QHERIS HUZ 0fsH3Ct
2 'ltbe ~that, ZX 72

VerdiZt 710|2 QI|2} SIRAZS |51 187 1L10] OF0|CHE ZH=3HCE
710|2 U2t SIRAZ Qo 18710 Ot0|CHE Xt A HiZ
Verdi%iCt,

VerdiZ} 710|2 QU2 StRAS Qo 1871410] Ar=25t Z
CHCt

VerdiZ} 18710 O}0|CtE =25t
HA KL,

VerdiZt 710|2 |2} SIRAE 25 OIO|CIE E=x3H A2 HIZ
1871H0|QiCt,

L= HE 2itg K=
W7t HE 2re mi7ix|= 2t
L7t HE PHtS MHOYlOF H|2A RISt

O HIZ 0}0|

A2 HIZ 710|12 W2t 5tRAS

B =X & p.137
1 2™yoi7e| 1z
Of 20| YT D2J= T HES HEE 4 QiCt
D2 10| YOLED QU=X| T211 o 0| AREIQUEX] 2= A2 0]
aifoHR| REUCH
2 Tonly + HANF/H). 2 BX
Katei= XIZOIA{OF AIZH B212| SRS UL
= 27} K|k S0jj0F T iIEEVI VST
ZR0| Fohzl Z20)Tt Alex= ZES 3 7{Ct
3 mAERANTO BX
HHOKTH HHOY, OF 20020] AFLS0| HH Z1eS 1 BHC,
22| 02| B2 912 E20] X|LZA,
Quick Check p.137
1 that 2 will |

1 "It be ~ that, 2% F20|Ct,
2 only whenEg ZZo}7| o 2% 0fl MM, FHO| 02t (X)SAt

£ =X[BI
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1
2

2 SAk="do[does/did] + SAFEE O

GRAMMAR e CHECK p.138
1 oA 22U 3 i< 4 Hz 1
1 do take 2 does believe
3 did play 4 did understand
1 is Mercury / is the nearest planet to the sun

2 was only very recently / Koreans started to adopt
western-style breakfast.
3 was not until last night / | heard the news

2 did | know
3 may audience members 4 did he master

1 have | dreamed

1 after her death was | able to
2 did we lose our money

w

it costs less than 40 dollars will | buy that skirt

do believes — does believe
we can ensure — can we ensure
he realized — did he realize

H WNPR

had | arrived — | had arrived

did try to complete
It was in India that
Not until yesterday did | know

H WNPR

may park visitors feed

1 on earthe ‘ECHA'Q| 52O 2 O|FAL X
2 muchg ‘@Ml o2 Hiwg X

3 extremely= ZX 2At

4 verys= HIZ 11'9| SO Z HALAXE

HEIR T8 LEfC,

3 1/27It be ~ that, ZZ FL20|Ct, TIt be ~ that At0|0f] Z=5t X}

5 fonly + R2AHT/H) 2 ZEE 2ol 2T A0l A =

Sh= 0715 2L
Tt was not until + A|7| + that,2
= ~30j0f H|2A --5}CFO| 5

w

‘~8t FK| -5FK] 2oty
SOE A|7|§ ZESICH

EX0{(never, hardly, seldom, rarely, little, nor, neither)S 2+
Zot7| Sl 2% Aol MH F0{2t (X)SAts EXIECH ZSAE
Q= 42 EXITE0M YHtE A= "do[does/did] + 301 + SAL
&, o= £r},

ol F0i9t 5
A ERIBICH

SAe| ZZX = "do[does/did] + SAFRIE 2| SHEfZ 2L}
2 Tonly + 2AHT/E),E EEsk= 2F0|Ch
3 EX0{7 Not until this mornings ZZs5t= EX0|Ct.
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4 Tonly + BAT/H),S ZESH= SFOICE B, only HAFHS| 2
9 0| Z0{9} (X)SAL AWM EX|7H LOILES 20 S0/t GRAMMAR © CHECK p.142

L. 1 1b 2 b 3a

7 1 SAC| ZXE= "do[does/did] + SAFRIH O] SEHZ 2L

2 Tt be ~ that, 2% 720c} 2 1 slowly and clearly / SAF + BEA}
o = .
3/4 SR0ITE ZE517| ol DA Q0| M F0{9} (R)EAN= £ 2 in a hotel or at my friend’s house / XA + TX|AIL
X|EICt, 3 where you live and what you want / BAFE + BARE
3 1 and [will] play
2 my father [drives]
3 We drove [across Koreal, ran [across Korea], and
walked across Korea

A tgg?}_ p.140 4 If you would like to [go swimming with us]
1 =EUst ZApo| HA 4 1 and Spain 2 nor drinking

oL ChuElmn; OfL|2t HEE S1Q51T QLY 3 wants not onIy money 4 and chemistry

WilsonMlis S££E5170, ZH47| 1, Q7 QUL 5 ®

Ashley= 21ME tii211 AMZSHA| AT
2 sust x| Bz 610 20 36

72| B SHY0| AjRE T SHIGh= A S0, 7 1 to study hard / to get the best grades

Li= 0471 AlZHoll AEE A1 S E= AS E0IRH ) ;

f_ 7t Al Oﬂ_ == = A2 TR 2 what your name is / where you live

A= LOILt 22 FHOIM THLERE

STESE 010] P2S RUOIOF 5111 O HS3HOF SHEXION ChSt 2 3 as much as you can

5ta1S0| QUct, 4 my brother didn’t
B C}FsH A4z p.141 1 HIIXR0M= YRR Z2 XRE HZAD|0{0F STt

2 TSAE GZE HIPX0ME YRR Z2 HOof, 7, Ho| ¢

1 3% 01'_I"' A°I|§|.F ZZ|0{0F St}

Amy= EMEO|L T FAE A0St

3 1 Z3=E=will 8=
S=El= drives H2F
SEE|= across Korea A42f

o] E2 M4t o] 8 HEC} Lt 2
3
4 ZEE|= go swimming with you A2F
&

I
‘U= 338 Y2 AU “18H 0]

2 HAMHMY

4 HTXE AZGP| AME BURSH SREE BHS WS
RIERS FER 471 20| OfLICE IS =XO0IT SBXOIC

OIZH 27| HIOIAS OWstT XIZE 4 UK LAHFHIR. 5 SEUSKA either A or B2 AZE TTZUME FHA MOI2)
Wrighthli= APHIL} - 201M M8EHO= gt ofEolct B e e

@ either pushed or are pulled — either pushed or pulled
XE 2
3 zsM *_h’_ . ) 6 1 toRXAP}HZAE HHX0|Ct @ watering — to water
-/F%Oﬂ ‘E}EJ 61_", S j.'—’i”._r% é" sl‘xl %E’Ef. 2 %Af?} 0|0.|;|:_| tg%*-??.‘.% o|_§_0.|or %._H:f.
@ the house was cleaned — cleaned the house
3 "SAL+ 2ALI AZAE HELRO|CH

Quick Check p.141 ® logically think — think logically
1 to do 2 hurt 7 1 THAandE SHCE toRHAIE WETXE AHot= A0| N
SICt
1 not only E|0f| to2&AI0|22 but also S| = toRKAIS 2L}, 2 o

2 either F0| AHZAZE RACEZ or FO| = DpAHZARE 2L, x

did]= 2Lt
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REVIEW TEST 0144 SiCrel 02 AI7|S PRSI,

Ct
16 230{71Ql Not a wordS Z=5t7| Il 25 U0l M, 02 (X)SAt
= EX|EICH
1 did think 2 did | dream 3 notuntil 4 trains 17 SAe| ZE= "do[does/did] + SAHHE 2| HE{Z 2L,
18-19 EHUE Z=X517| Sl 2 ol MH, F0{Q} (X)SAts ZXIEICH
20 YEHSAR LT HATIONE SHHOR P2 TX2 HE|00F

5 can the government 6 ®
7 have they heard of such a thing

SICt,
8 did she wash the dishes 21 FA SN 2F Yol XI5 Foje SAje] Sxl= Mef ARROICY,
9 has Paul had so much fun Ch UHE=E A= do[does/did]S MX| &=Lt
10 did | remember we had met before 22 2780{722! under no circumstancesE ZA5t7| {Uc S A0 MM,
11 This project can be done individually, in pairs, or [can F02H(Z)SAHE EXIE,
23-24 [EAME AZE HEAXOM = 2HYCR 22 HEHE HZAZ(0{0f

be done] in groups of four.

12 Your TOEFL score is higher than my brother’s [TOEFL
score].

13 Only 3% water of the earth is fresh, and rest 97% [water
of the earth] is salty.

SIC.
25 not until ~2 ZZ5| 2lal 28 Aol XMH, F0i2H (X)SAks E=XI=C

PRACTICE TEST p.146

14 He did apologize for

15 It was not until this morning that 1 ® 2 @ 3 Seldom has the boss been so upset.
16 Not a word did she speak to me L= She didn’t speak 4 Not until he was four did Einstein start speaking.
a word to me 5 does 6 did Brad Pitt produce 7 are fruits
17 did tried — did try 8 act 9 did his assistant realize
18 Seldom speaks he — Seldom does he speak 10 It was not until 1971 that
19 Never before | have seen — Never before have | seen 11 Little did he understand
20 not only was too expensive 12 ltis in the early 2000’s that
— was not only too expensive — It was in the early 2000’s that
21 did a rainbow appeared 13 Not only Seoul is — Not only is Seoul
— appeared a rainbow L= a rainbow appeared 14 and having — and (to) have
22 anyone should consume — should anyone consume 15 did reached — did reach
23 and learning — and to learn 16 Never you should make — Never should you make
24 and with care — and carefully 17 or your age — or how old you are
25 glass became — did glass become 18 she will achieve — will she achieve 19 @ 20 ®
1 SMe ZZE="do[does/did] + SAIREE Q=2 LY, 1 "It be ~ that, ZZ0i|A thatZe| £2| UX|0] R2I5t040F St ® It's
2 2730 Little2 ZZol7| Ao 2% 0l 48, Foie (X)SAk= =AI1H you that has — It's you that have
Lt YPLSAH= "do[does/did] + 30 + SAHRY O A0} 2 FA BARTF ZF 0| YIXISHA, 012 SAS| EX|= ME AFEO|
3 Tlt was not until + A|7| + that, ‘~&t I7}X| ---5HK| ZEICF O A| Lt &, YHLSAL= do[does/did]E MX| 24=Lt, @ did a frog sit — a
7|15 Z=ESt, frog sat &= sat a frog
4 TEAE AZAE HIAAX M= BHEHRE Z2 #22 EBAME 3-4 2015 Zxo17| i 2% Yol AH, F0{2t (X)SAts EXIECH
buses or trains2 HZAE|0{0f StCt, 5 SAtO| ZZE= "do[does/did] + SAMHE 2| HEHZ 2Lt
5 only whenHS ZZ57| o 2F A0 LH, F0{2t ZSAE EX|6 6-7 273012l not onlyS ZZ5}7| flo 2% ol A, F0{e} (Z)SAh=
Ct. EX|ELC
6 HEIZ= ZYHXNCE 2 HEHE AZAE0Of BTt ® to drink — 8 TLAIZ SAE HIELXOM= 2YELE 22 HHZ HZAL[0{0F T
drinking Ct. "SAL+ SAL7F AZEE HEHO|CY,
7-10 2X0{(never, hardly, seldom, rarely, little, nor, neithen)= 2= 9 EX0{Ql Not until ~2 ZZ=517| 2loh 2% 20| MH, F0{2t (X)SAH=
St7| Sl 27 A0l AH, 09} (X)SAt= EX|EICH EXFL20(A Yt EX|EL.
ZEAK=Tdo[does/did] + 20| + SAIRIS O Z Ar} 10 "It was not until + A|7| + that 2 ‘~& W7}X| --5HX| ZSICY, ‘HI2A ~
11-13 S=&= 0T E2 ZHdS floh Mt SICHe| S2O 2 A|7|E Z=SiCY,
14 SAte| ZZE= "do[does/did] + SAHEE | HEZ 2L, 11 2HOE ZZ517| floi 2% 40l XM, F0{2} (R)SAts =XIECH
15 "t was not until + A|7| + that,2 ~& W{7IX]| ---5FX| Z2SICE, ‘HIZ4A ~ 12 ZZXsl0Xt oh= LHE0| 2HHO0|2 2 Mt was - that ~,0] ST}

36
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13 2H0{ Not onlyS ZZ5}7| Llall 22 20l MH, F0{ (X)SAts EX|
EC

14 "toRFAL + toR ™ALL HARE HBAXOICL E= TSAFEYE + SA
HH L2 FlO| toS Maet kTt

15 SAtO| L% = "do[does/did] + SAFEE 2| HE{Z 2Lt

16 20| Nevers ZZXo}7| o 2% A0l AH, F0{2} (X)SAts ZAI=H
Ch.

17 AT S HASIEZ or your age s K2 HIF0{0f S},

18 only ifES ZZxs5t7| Yol 2% A0 MH, F0{2t ZSAIE EX[GHTH,

19 Not until ~& ZZst7| 2ol 2% A0 MH, F0{2} (X)SAts EX|
EICt et SAH= "do[does/did] + FO0f + SAEY 2 TX|SHCE
scientists knew — did scientist know

20 (A) MEALZH EXHotl ZLH0| 017t QREE FARANHAL which
7t MElstct, (B) ‘0l2{8t WM 8t S01'9| 2I0j0|22 2ALE after
making this oath7} HgSICt, (C) SAIC| ZZEE= "do[does/did] + =
AH2EC| HEHOICY,

=od

=
=2
=

Grammar 152_&&.indd 37 2015-11-05 2% 1:56345



?

9 X9 SAS E0|7] flsi 1L0|= S YHO = Yofet ALt
WORKB O OK 0|Zd0] 10|S0| FET| &2 ROoIM TOIRS [ 242 A X
24= 0|R0|C.
> Z0{ they7t ‘RAGSICHO| O|0|0|22 58 ™AL ZQsIT

CHAPTER 9 +=SHj

UNIT 1 SEfe| A} A|x| p.2 Ef.
1 was invented 2 to be checked ;:':;1 the fuel0] HES= SOI'S| 2012 BAUTY AMS| +SE7t 2
3 has been cancelled 4 @ be read — read
5 ®tobe made —tomake 6 @ 7 @
8 is composing of — is composed of UNIT 2 E&2| gAlut =FEj p.3
9 less likely to injure — less likely to be injured 1 iscalled 2 has 3 shouldteach 4 is referred
10 is operating — is being operated 5 @

6 | was given two hours to make a decision

-
i

&= Two hours was given to me to make a decision
7 Nepal is called “the Roof of the World”
8 He was died of — He died of
2 XSXIO| 00 HHS HOHLt X5 FHsHOF sh=st? 7HE E2 A2 9 Itis intended to give — It is intended to be given
o] ZEHE =22 M5t 10,0000r101A 12 5000t10tCt

1 FXR|UX|= 8 HP0| TS FS HO7IA SFHYS =2
HI7h Ot 2 20i| AL

» 301 microwave®}t SAt invent7t £52| ZtA|0|Ct,

10 he was chosen his name — he chose his name

26hk= AO|C,

> 70 an air filter@t A check7t £52| A 0|22 258 2XAI7 1 149 QoM L= JFEE ABJ= =2H(HIOA L= A2])0|2t 2|1

a8, IS {0 LHAS HA K= A2|0|X] TECHS A5 OfLIC
3 [}S9| 0|HY LI ‘THAIO| =20| FAEQCI= 42 Amazon » Z0] The rumbling noise®t SA} call2 59| ZH0|C},

Off 2|3t 40| OfL|at A7} 2l Tl AZ(AZ|)OICE, O] AH2 2 OpRIIES 2574 O|AI] T HQUAT} SHQEI MIAOA 71 HUT}

Amazon OIZAFS S| AREAt OIS 2 Y= SX171 Hlo At=ACL, Q= THUOIK|H, B2 ARISO0| AR|ZE 7120 RSt K|oln|E,

> Z0{ Your order@} SA} cancel0| £52| 2|01 AHl= STHAR0| IS Ch¥ 8196t QICHE 0|R2 7|5t ULt

tf. > have, fit, lack, resemble 52| SAH= 2X0{Z ZX[0F $SEHZ H
4 BE NPKSS XIPMES 17| Hojl 0] MES 2| 2 20{0F X BE.

Sitt. 3 CIZ AISST 2412 e 20| tisl 21T Lk RS HXiLL of

> %01 All applicants} SAF should read7t SS2| #A0I. X, OLOISUAE BEHOICE RRES IS0 OFF 0f2! Lio]
5 TES ZOWN BIE LIRE W, H0|34 HMUS 2ET| s AL HOll== Z2 4= 0IIES 7H=X0F 2IT.

=ICt, » 30 Parents2t SAt teache 532 BAO|CT,

i
4
1o
>
re
=]
Hu
(o]
N
=)
Ral
&
o0z
o
o
|l
e
i)
~
o>
o
of¥

» Z0{ Flour7} SAt usedt= 459 A O|X|Tt, ‘s OS] Q|59 4 AEY AL 2
a

ol0|Z M0|= 532 £HALEQSIC,

6 3} U IOl FHES THFO{0F ST > Z0{ Stress®} SAt refer= 59| ZAHO|CH,

» Z0{ Cell phones?t At should turn off= 52| #AO|Ct, @ 5 0] 222l #|0|T= SHHLIZ 2|3iA] IS 0{ILY
>

should turn off — should be turned off _
44 2| £=04FAt make, buy, get, find S2| SAt= ZFSHO

7 S OHE AR ofol HIRST5H! AX| §Tt £ FOZ +SHIZ TeHE F ZESX0] L0 TX|At forS 220
» Z=0{ Nobody2} SAt Iaugh ate £E0| A 0|DE AES SR} ® was made to — was made for
L5}, @ to laugh at — to be laughed at 6 TISS LA ZHE A U2 & AZtS

8 X7 71502 S2iW0| ULk 0] th7|52 Chst AR 0|20] >4
X QU1 ‘B Sara 22 Zo|ct, +SH7H7SsI.

» Z0{ The atmospheric layer7} ‘TL4E|0 QICF2| Q|O|0|2 2 SSEY 7 AL 4TS MAQ X|E'0[2tT 2L}

[=} —
il : os
7HEESI. > BHA| BHE SEHE SEY 1 SH0jS 4+

oin
esl
Ho
0z
10
i
<2
U
_O'E
B

33
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SHZHLO|= 2SE| 23| FHH0{7} S, S0 22
8 19| =ASI0|A, Napoleon Bonaparte= S8 2% [=0] OfL|2t 5 ZEES0|65% A M| BEZQUCIT AFRIS0| 20 QUCH
Ssio| £ 20| {0 XHAIS| A2 ET QICH T 9Joro Ay > that BIAFEO| 2ROl ASEHE that BAPEO| Z0IZ ASeH0| 0{2
aiCt H#0| JHS3ICH B, that BAFEO] SAPZE 20| SAPEC TR o
[ZR=PS) AL
b SAtdies 0| 2K o= KISA0|DE 2E30] QCt. B FRME SN

6 U7t & =% HAIVIE S Mottt HAZL 22|10 LiE 22
EUHMM &0 E ZX7|=2 ZAE "0

9 IALOAO[2 OFAJOF 2|11 Hojlo| HO[Ct. IR2 ALEIHIE fIaH
fUCist 7|01 et JHRIO0|LE FEIA 0{E[0X|= 20| SHOICY,

> 0] It(Magsaysay)et EAt givels £E0| BAO|DE 258 SHA} > #0119 SAF check?}t 89| 20|22 | am taken aside and
7t L3It (am) checked7t GCt,
10 20134 Francis T&HS & M7 1291 7152 ARFS0| XIERi2 A 1 FEI7EBi2l= B2 250 oF 1029] 12 |el2 US0RA, 2A
= 2= |
ZIQIC}, Francise ARAIO| THASH 0[S Q| 7h5t 0|52 25t S 20| KHALSE 4 UL
7 5|2 517| HE0) 12 0|22 MEIRCHT Y&ICt Francis I > B S "be made of + (M) = ~2 USOXICKS| 0|2 of
ol HE2S 200 ©, =9 YHO| Hots Z2(sksH Hatol= be

&

i
g2 0|= Barack Obama L2222 EQ|E HolA = HIE Q17| made from + (W22 2C}
Ol=

MIAX|=XL0]CH,

> Z0{ heQt A} choose= SE2| 2A0|Ct, 8 X OIAM0| J1EN ZQSICHT B QICH 12|17 ARRMS0| XpAlo| X
st ARIS HO 7|32 =1 2SI O 25t AFZSO||A|
FR}E %S ARO[t
UNIT 3 CIst 2SEY p.4 b that BIAFRIO| 2X0{QI ASE| 2 7|20] it AT FIZ0{Ql that
1 don't get paid 2 is devotedto 3 with %’tf’g% Sxt Fof| L0t £ Peopel say that ~02 SE0| 2AIE 7t
4 has been proven that milk is not as good for your Ssit.
bones as bananas 9 =2 Zojoz MENXNLEI SXM2 =2 2|9 OfHn} Lzt 2
5 are believed to have become extinct about 65 million 2 12 QAER 0|20 ULt E3} X|Hl= 25%2] 24l 75%2)
years ago MO 0|2Z0{A QC}
6 ® check —checked 7 @ by glass — of glass > AMEH 2ZEf "be composed of = ‘~Q 2 TLAE|0{QICFO| SE0]Ct,

8 It is saying that — It is said that tE= Peopel say that 10 ASSIX|= Q2 WEMO| QXI5 Y= HIEH MES0|CH TS
9 is composed by — is composed of 0] o AESIX|S DISU=X|E OIRE ZEX|TL 0S| UZ T} 5t
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